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Topic:­ General Science
1)

Question Stimulus :­

The ash obtained by burning magnesium ribbon is Magnesium oxide which when dissolved in water & tested is
found to possess / मॖៀ�ॎोषयम ㌰रबन कख़ जलॊनॕ पर मॖៀ�ॎोषयम ऑ韁�ॊइड कॎ रॊख ोनकलतॎ ऻॖ, ोजऺॕ पॊनॎ म姜� घख़लनॕ और
परॎ埁�ण करनॕ पर पॊयॊ गयॊ ोक यॕ ______________ दषॊ姜�तॎ ऻॖ    

Acidic nature / अ韀�ॎय ᐀क॑ोत

Basic nature / 埁�ॊरॎय ᐀क॑ोत

Basic nature / 埁�ॊरॎय ᐀क॑ोत

Both acidic & basic nature / दख़नख़ ॠ, अ韀�ॎय और 埁�ॊरॎय ᐀क॑ोत    

Correct Answer :­Basic nature / 埁�ॊरॎय ᐀क॑ोत 

2)

Question Stimulus :­

The microbe that reproduces only inside the body of the host organism is / शख़  ॐऺퟁ� जॎश जख़ परपख़हॎ जॎश कॕ षरॎर कॕ
अॠदर ऻॎ ᐀जनन करतॕ ऻ姜�, कऻलॊतॕ ऻ姜�      

Bacteria / जॎशॊणॏ

Fungi / कशक

Protozoa / ᐀ख़टख़जख़आ

Virus / शॊइरऺ

Correct Answer :­Virus / शॊइरऺ 

3)

Question Stimulus :­

Rust is an oxide of  / जॠग, इऺकॊ ऑ� ऺ ॊइड ऻॖ

Lead / लॕड

Copper / कॗपर

Iron / लख़ऻॊ

Tin / ोटन



Correct Answer :­Iron / लख़ऻॊ 

4)

Question Stimulus :­

Tremors are caused by the disturbance deep down inside the / ________ कॕ नॎचॕ गऻरॊई म姜�,
ोश埁�ख़भ कॕ कॊरण भॐकॠ प कॕ झटकॕ मऻ ॐऺऺ ोकयॕ जॊतॕ ऻ姜�।

Crust of the earth / भॐपप姜�टॎ

Mantle of the earth / धरतॎ कॕ ᐀ॊशॊर

Outer core of the earth / प॑ퟀ�ॎ कॕ बॊऻरॎ कख़र

Inner core of the earth / प॑ퟀ�ॎ कॕ भॎतरॎ कख़र

Correct Answer :­Crust of the earth / भॐपप姜�टॎ 

5)

Question Stimulus :­

The temperature of hot milk can be measured using a / गम姜� दॐ ध कॕ तॊपमॊन कख़ इऺकॕ ᐀यख़ग ᠀ॊरॊ
मॊपॊ जॊ ऺकतॊ ऻॖ

Clinical thermometer /  डॗퟆ�रॎ थमॊ姜�मॎटर

Maximum and minimum thermometer / अोधकतम और 韀�ॐनतम थमॊ姜�मॎटर

Laboratory thermometer  / ᐀यख़गषॊलॊ थमॊ姜�मॎटर

Both clinical thermometer and laboratory thermometer / डॗퟆ�रॎ और ᐀यख़गषॊलॊ थमॊ姜�मॎटर दख़नख़ ॠ 

Correct Answer :­Laboratory thermometer  / ᐀यख़गषॊलॊ थमॊ姜�मॎटर 

6)

Question Stimulus :­

Expand MCB / एमऺॎबॎ कख़ ोशퟀ॑�त कर姜�  

Miniature  circuit board / ोमनॎएचर ऺोक姜� ट बख़ड姜� 

Miniature circuit breaker / ोमनॎएचर ऺोक姜� ट ᐀ॕकर

Magnetic circuit board / मॖៀॕ�ोटक ऺोक姜� ट बख़ड姜�

Magnetic circuit breaker / मॖៀॕ�ोटक ऺोक姜� ट ᐀ॕकर

Correct Answer :­Miniature circuit breaker / ोमनॎएचर ऺोक姜� ट ᐀ॕकर 

7)

Question Stimulus :­

Humus refers to / ऻयॐमऺ, इऺॕ ᐀दोष姜�त करतॊ ऻॖ



Large particles of soil / म॑दॊ कॕ बुॕ कण

Dark coloured organic matter in topsoil / ऊपरॎ म॑दॊ म姜� गऻरॕ रॠग कॊ जॖश पदॊथ姜�

Small particles of soil / म॑दॊ कॕ छख़टॕ कण

Particles of sand, silt and soil / रॕत, गॊद और म॑दॊ कॕ कण

Correct Answer :­Dark coloured organic matter in topsoil / ऊपरॎ म॑दॊ म姜� गऻरॕ रॠग कॊ जॖश पदॊथ姜� 

8)

Question Stimulus :­

Rainwater can be used to recharge the ground water. This is referred to as / शहॊ姜� जल  कॊ इퟀॕ�मॊल भॐ­जल कॕ पॏनभ姜�रण
कॕ ोलए ोकयॊ जॊ ऺकतॊ ऻॖ। इऺॕ कऻतॕ ऻ姜� ­   

Water harnessing  / जल दख़ऻन

Water harvesting / जल  ॠऺचयन

Water saving / पॊनॎ कॎ बचत

Water recharging / जल पॏन: आशॕषन

Correct Answer :­Water harvesting / जल  ॠऺचयन 

9)

Question Stimulus :­

In the middle ear, the vibrations are amplified by the three bones namely the / म᠀ कॊन म姜� कॠ पन तॎन ऻो਀यख़ ॠ ऺॕ
प㌰रलो埁�त ऻख़तॕ ऻ姜�, ोजनकॊ नॊम ऻॖ।

hammer, anvil and stirrup / ऻॖमर, एनोशल, ꏜ�܀ररप

hammer, anvil and pinna / ऻॖमर, एनोशल, ोपៀ�ॊ

hammer, cochlea and stirrup / ऻॖमर, कख़ퟁ�ॎअ, ꏜ�܀ररप

auditory bone, anvil and stirrup / ऑडॎट㒆� ॎ बख़न, एनोशल, ꏜ�܀ररप    

Correct Answer :­hammer, anvil and stirrup / ऻॖमर, एनोशल, ꏜ�܀ररप 

10)

Question Stimulus :­

The change in shape in amoeba which facilitates movement is due to /  अमॎबॊ म姜� आकॊर कॊ बदलॊश जख़ उऺकॎ गोत म姜�
ऺऻॊयक ऻख़तॊ ऻॖ, कॊ कॊरण ऻॖ। 

Tentacles / ퟀ�ष姜�क

Cilia / ोऺोलयॊ

Flagellum /  कषॊोभकॊ

Pseudopodia / पॊदॊभ



Correct Answer :­Pseudopodia / पॊदॊभ 

11)

Question Stimulus :­

During fractional distillation of petroleum, the vapours with the lowest boiling point  condense / पॕट㒆� ख़ोलयम कॕ
आॠोषक आऺशन कॕ दग़रॊन,  शॊ򠀀 ोजनकॊ េ�थनॊॠक लघॏतम ऻॖ,  ॠऺघोनत करतॎ ऻ姜�             

In the upper most part of the fractionating tower / 韀ॖ�ࠀोनॠग टॊशर कॕ ऺबऺॕ ऊपरॎ भॊग म姜�

In the lower part of the fractionating tower / 韀ॖ�ࠀोनॠग टॊशर कॕ ोनचलॕ भॊग म姜�

In the middle part of the fractionating tower / 韀ॖ�ࠀोनॠग टॊशर कॕ बॎच कॕ भॊग म姜�

Obtained as the residue at the bottom of the tower / टॊशर कॕ नॎचॕ अशषॕहख़ ॠ कॕ 㔛�प म姜� ᐀ॊ␀

Correct Answer :­In the upper most part of the fractionating tower / 韀ॖ�ࠀोनॠग टॊशर कॕ ऺबऺॕ ऊपरॎ भॊग
म姜� 

12)

Question Stimulus :­

Identify which of the following is not a forest produce? / पऻचॊन姜� जख़ ोनᤀ म姜� ऺॕ एक शनख़ကॊद नऻॎ ॠ
ऻॖ?

Wood / लकीॎ

Sealing wax / लॊख

Salt / नमक

Honey / षऻद

Correct Answer :­Salt / नमक 

13)

Question Stimulus :­

A match­stick is rubbed on the side of the matchbox that has powdered glass & a little red phosphorus on it. The
first reaction that takes place is / एक मॊोचऺ कॎ तॎलॎ कख़ ៀ�ॊऺ पॊउडर और ब㔛�त थख़ीॎ मॊ韀�ॊ म姜� लॊल फॊ崀�ख़रऺ लगॕ
मॊोचऺ कॕ ोड✀ॕ पर रगीॊ जॊतॊ ऻॖ। इऺ दग़रॊन जख़ पऻलॎ अोभो姛�यॊ ऻख़गॎ। 

Red phosphorus gets converted to white phosphorus. / लॊल फॊ崀�ख़रऺ, ऺूॕद फॊ崀�ख़रऺ म姜� प㌰रशोत姜�त ऻख़ जॊतॊ
ऻॖ। 

White phosphorus gets ignited. / ऺूॕद फॊ崀�ख़रऺ ᐀ៀ�ोलत ऻख़ जॊतॊ ऻॖ।

Red Phosphorus reacts with antimony tri sulphide. / लॊल फॊ崀�ख़रऺ ऐꏜ�᠀मनॎ ट㒆� ॊई ऺ됁ॊइड कॕ ऺॊथ अोभो姛�यॊ
करतॊ ऻॖ। 

Red Phosphorus reacts with potassium chlorate. / लॊल फॊ崀�ख़रऺ, पख़टॕोषयम ퟁ�ख़रॕट कॕ
ऺॊथ अोभो姛�यॊ करतॊ ऻॖ।

Correct Answer :­Red phosphorus gets converted to white phosphorus. / लॊल फॊ崀�ख़रऺ, ऺूॕद फॊ崀�ख़रऺ म姜�
प㌰रशोत姜�त ऻख़ जॊतॊ ऻॖ।  



14)

Question Stimulus :­

The increase in temperature on the earth disturbs the water cycle & reduces rainfall, causing  / प॑ퟀ�ॎ पर, तॊपमॊन म姜�
श॑ꏜ�฀ जल च姛� कख़ ᐀भॊोशत करतॎ ऻॖ ोजऺऺॕ कम शहॊ姜� ऻख़तॎ ऻॖ, ोजऺऺॕ _________ कॎ  ॠऺभॊशनॊ ऻख़तॎ ऻॖ।  

Droughts /  ॐऺखॕ

Desertification / बॠजर

Deforestation / शनख़␀ॐलन

Floods / बॊु

Correct Answer :­Droughts /  ॐऺखॕ 

15)

Question Stimulus :­

Identify the chemical present in window cleaner / ोशॠडख़ ퟁ�ॎनर म姜� मग़जॐद रऺॊयन कख़ पऻचॊन姜�।  

Sodium hydroxide / ऺख़ोडयम ऻॊइड㒆� ॗ韁�ॊइड

Lime water / चॐनॕ कॊ पॊनॎ

Ammonium hydroxide / अमख़ोनयम ऻॊइड㒆� ॗ韁�ॊइड

Magnesium hydroxide  / मॖៀॕ�ोषयम ऻॊयड㒆� ॗ韁�ॊइड

Correct Answer :­Ammonium hydroxide / अमख़ोनयम ऻॊइड㒆� ॗ韁�ॊइड 

16)

Question Stimulus :­

When a person swims under water, water pressure is felt acting on the person's eardrums. The pressure is due to /
जब एक ퟀ�ꏜ�ऀ पॊनॎ म姜� तॖरतॊ ऻॖ तख़ पॊनॎ कॊ दबॊश ퟀ�ꏜ�ऀ कॕ कण姜� पटऻ पर मऻ ॐऺऺ ोकयॊ जॊतॊ ऻॖ। इऺ दबॊश कॊ कॊरण ऻॖ
­                                                                   

Less water above the person / ퟀ�ꏜ�ऀ कॕ ऊपर कम पॊनॎ

Large surface area of the swimmer / तॖरॊक कॕ प॑�ॎय 埁ॕ�韀�फल कॊ बीॊ ऻख़नॊ

Weight of the water above the person / ퟀ�ꏜ�ऀ कॕ ऊपर पॊनॎ कॊ भॊर

Volume of water / पॊनॎ कॊ आयतन

Correct Answer :­Weight of the water above the person / ퟀ�ꏜ�ऀ कॕ ऊपर पॊनॎ कॊ भॊर 

17)

Question Stimulus :­

A ball rolling on the ground slows down and finally stops because / िमॎन पर लॏढकतॎ ग姜�द धॎमॎ ऻख़ जॊतॎ ऻॖ और अॠत म姜�
姛�क जॊतॎ ऻॖ 埁�ख़ॠोक                                      



There is no friction between the ground & the ball / जमॎन और ग姜�द कॕ बॎच कख़ई घह姜�ण नऻॎ ॠ ऻॖ। 

There is friction between the ground & the ball / जमॎन और ग姜�द कॕ बॎच घह姜�ण ऻॖ। 

The force of friction does not oppose the motion / घह姜�ण कॊ बल, ग姜�द कॕ बल कॊ ोशरख़ध नऻॎ ॠ
करतॊ

The force of friction acts in the same direction of motion / घह姜�ण कॊ बल, गोत कॕ ऺॊथ ऺमॊन
ोदषॊ म姜� कॊय姜� करतॊ ऻॖ

Correct Answer :­There is friction between the ground & the ball / जमॎन और ग姜�द कॕ बॎच घह姜�ण ऻॖ।  

18)

Question Stimulus :­

The axis of rotation of the Earth is not perpendicular to the plane of its orbit. This tilt is responsible for. / प॑ퟀ�ॎ कॊ
घॐण姜�न अ埁�, इऺकॎ क埁�ॊ कॕ तल पर लॠबशत नऻॎ ॠ ऻॖ। यऻ झॏकॊश ___________ कॕ ोलए ोजៀॕ�दॊर ऻॖ।
                                                               

Change of seasons on the earth / प॑ퟀ�ॎ पर मग़ऺम कॕ बदलनॕ

Phases of the moon / चॠ韀�मॊ कॕ चरणख़ ॠ

Formation of rainfall / शहॊ姜� कॕ गठन

Melting of glaciers. / ៀॕ�ोषयरख़ ॠ कॕ ोपघलनॕ

Correct Answer :­Change of seasons on the earth / प॑ퟀ�ॎ पर मग़ऺम कॕ बदलनॕ 

19)

Question Stimulus :­

A magnifying glass is a / आशध姜�क लॕ܀ ऺ  ऻख़तॊ ऻॖ

Convex mirror / उ� तल दप姜�ण

Concave lens / अशतल लॕ܀ ऺ  

Convex lens / उ� तल लॕ܀ ऺ

Plane mirror / ऺमतल दप姜�ण

Correct Answer :­Concave lens / अशतल लॕ܀ ऺ   

20)

Question Stimulus :­

We enjoy sipping hot coffee during winter because  / ऻम ऺोद姜�यख़ ॠ म姜� गरम कॗफॎ पॎनॊ पॠऺद करतॕ ऻॖ � यख़ ॠोक

Coffee tastes better in winter / कॗफॎ, ऺोद姜�यख़ ॠ म姜� अोधक ៀ� शॊोद韖� ट लगतॎ ऻॖ

Heat flows from hot coffee into our body making us feel warm /   गरम कॗफॎ पॎनॕ ऺॕ ऻमॊरॕ षरॎर म姜� ऊ韖� मॊ
᐀शॊोऻत ऻख़तॎ ऻॖ ोजऺऺॕ ोक ऻम姜� गम돝� मऻ ॐऺऺ ऻख़तॎ ऻॖ

Heat flows from our body to the coffee / ऊ韖� मॊ, ऻमॊरॕ षरॎर ऺॕ कॗफॎ म姜� ᐀शॊऻ ऻख़तॎ ऻॖ



Heat flows from hot coffee to our body making us feel cool / ऊ韖� मॊ, गरम कॗफॎ ऺॕ
ऻमॊरॕ षरॎर म姜� ᐀शॊऻ ऻख़तॎ ऻॖ ोजऺऺॕ ऻम姜� ठॠ ड मऻ ॐऺऺ ऻख़तॎ ऻॖ

Correct Answer :­Heat flows from hot coffee into our body making us feel warm /   गरम कॗफॎ पॎनॕ ऺॕ ऻमॊरॕ
षरॎर म姜� ऊ韖� मॊ ᐀शॊोऻत ऻख़तॎ ऻॖ ोजऺऺॕ ोक ऻम姜� गम돝� मऻ ॐऺऺ ऻख़तॎ ऻॖ 

21)

Question Stimulus :­

Children of Delhi are keen to contribute to reduce air pollution. Which vehicle should they use to
commute to school? / ोद騂ॎ कॕ बఀॕ शॊयॏ ᐀दॐ हण कख़ कम करनॕ कॕ ोलए यख़गदॊन दॕनॕ कॕ उퟀ�ॏक ऻ姜�। उ韀�姜� �ॐ ल
आनॕ कॕ ोलए ोकऺ शॊऻन कॊ इퟀ�姜�मॊल करनॊ चॊोऻए?                                                                         

Public transport CNG Bus / पꏜ�埀�क ट㒆� ॊॠऺपख़ट姜� ऺॎएनजॎ बऺ 

Auto rickshaw / ऑटख़ ㌰रࠀॊ

Car / कॊर

Scooter / �ॐ टर

Correct Answer :­Public transport CNG Bus / पꏜ�埀�क ट㒆� ॊॠऺपख़ट姜� ऺॎएनजॎ बऺ  

22)

Question Stimulus :­

Identify the organism that breathes through its skin / उऺ जॎश कख़ पऻचॊन姜� जख़ अपनॎ 埀�चॊ ऺॕ �ऺन
करतॊ ऻॖ। 

Earthworm / क姜� चॏआ

Fish / म 

Dog / कॏ ᴀॊ

Cat / ोब騂ॎ

Correct Answer :­Earthworm / क姜� चॏआ 

23)

Question Stimulus :­

Few drops of Iodine solution when added to an aqueous solution of cooked rice turns blue black. This indicates that
rice contains. / पकॕ 㔛�ए चॊशल म姜� आयख़डॎन कॎ कॏ छ बॐँद姜�  ोमलॊनॕ पर रॠग, नॎलॊ कॊलॊ ऻख़ जॊतॊ ऻॖ। यऻ दषॊ姜�तॊ ऻॖ ोक चॊशल म姜�
षॊोमल ऻॖ।  

Proteins / ᐀ख़टॎन

Vitamins  / ोशटॊोमन

Minerals / खोनज पदॊथ姜�

Starch / ܀ॊच姜�



Correct Answer :­Starch / ܀ॊच姜� 

24)

Question Stimulus :­

Identify the INCORRECT statement about rust. / जॠग कॕ बॊरॕ म姜� गलत कथन कख़ पऻचॊोनयॕ।

Rust and iron have the same composition. / जॠग और लख़ ऻॕ म姜� ऺमॊन घटक  ऻख़तॕ ऻ姜�।  

Rust is not iron. / जॠग, लख़ऻॊ नऻॎ ॠ ऻॖ।  

Rusting is a chemical change. / जॠग लगनॊ, रॊऺॊयोनक प㌰रशत姜�न ऻॖ।

Rusting is a kind of oxidation. / जॠग लगनॊ एक तरऻ कॊ ऑ� ऺ ॎकरण ऻॖ।

Correct Answer :­Rust and iron have the same composition. / जॠग और लख़ ऻॕ म姜� ऺमॊन घटक  ऻख़तॕ ऻ姜�।   

25)

Question Stimulus :­

Eyes of the nocturnal animals have large cornea & a large pupil. This structure help them / रॊो韀�चर जॎशख़ ॠ कॎ आॠखख़ ॠ
कॕ कॗोन姜�यॊ और पॏतलॎ बीॎ ऻख़तॎ ऻ姜�। इऺ  ॠऺरचनॊ ऺॕ उ韀�姜� __________ म姜� मदद ोमलतॎ ऻॖ ।

To increase their field of vision / 埀�ो܀ कॕ 埁ॕ�韀� म姜� श॑ꏜ�฀

To rotate their eyes at 3600 / अपनॎ आँख कख़ 3600 म姜� घॏमॊनॕ

To activate rod cells with virtually no color vision / रॗड ऺॕ墎� कख़ एꏜ�ퟆ�शॕट करनॕ, ोजनम姜�
कख़ई रॠग नऻॎ ॠ ऻख़तॊ

To activate cone cells for more availability of light / ᐀कॊष कॎ अोधक उपल✀तॊ कॕ ोलए
षॠकॏ  कख़ोषकॊओॠ कख़ ऺो姛�य करनॕ

Correct Answer :­To increase their field of vision / 埀�ो܀ कॕ 埁ॕ�韀� म姜� श॑ꏜ�฀ 

Topic:­ General Hindi
1)

Question Stimulus :­

‘रॊोधकॊ नॕ ______ फॐ ल बॊलख़ ॠ म姜� लगॊए ऻॖ’ ㌰रऀ ៀ�थॊन कॕ ोलए कग़न ऺॊ ोशषॕहण षៀ� उोचत नऻॎ ॠ ऻॖ ­

ॏऺॠदर

लॊल

बीॕ

आज

Correct Answer :­आज 

2)

Question Stimulus :­



‘ोनែ� चल’ कॕ पयॊ姜�यशॊचॎ ष韕� द ऻ姜� ­

खल‚ षठ‚ धॐत姜�

अशलꏜ�ᤀत‚ आो韀�त‚ आधॊ㌰रत

ꏜ�ៀ�थर‚ ៀ� त韕� ध‚ ोनៀ� पॠद

द㌰र韀�‚ ोश� तऻॎन‚ धनऻॎन

Correct Answer :­ꏜ�ៀ�थर‚ ៀ� त韕� ध‚ ोनៀ� पॠद 

3)

Question Stimulus :­

ोनᤀोलꏜ�खत ोशक鐁ख़ॠ म姜� ऺॕ ‘थख़ीॊ जॊननॕ शॊलॊ’ कॕ ोलए कग़न ऺॊ ोशक鐁 ऺऻॎ ऻॖ ?

अ鐁埀�

ऺश姜�埀�

अ埀�

ब㔛�埀�

Correct Answer :­अ鐁埀� 

4)

Question Stimulus :­

षॏ฀ 㔛�प कॊ चॏनॊश कर姜�  ।

दॊइ埀�

दॊोय埀�

दॊयख़ៀ�

दॊयॕ埀�

Correct Answer :­दॊोय埀� 

5)

Question Stimulus :­

‘㔛�पॊॠतरण’ कॎ 埀�ो܀ ऺॕ षॏ฀ शॊ� य ऻॖ ­

यऻ पॊठ ऻमॊरॎ पॊៀ� पॏៀ� तक ऺॕ ोलयॊ ऻॖ।

यऻ पॊठ ऻमॊरॎ पॊៀ� पॏៀ� तक ऺॕ ोलयॊ गयॊ ऻॖ।

यऻ पॊठ ोलयॊ गयॊ ऻॖ ऻमॊरॎ पॊៀ� पॏៀ� तक ऺॕ ।

ऻमॊरॎ पॊៀ� पॏៀ� तक ऺॕ यऻ पॊठ ोलयॊ गयॊ ऻॖ।



Correct Answer :­यऻ पॊठ ऻमॊरॎ पॊៀ� पॏៀ� तक ऺॕ ोलयॊ गयॊ ऻॖ। 

6)

Question Stimulus :­

‘जॠगल’ कॊ पयॊ姜�यशॊचॎ ऻॖ ­

अटशॎ

अमॎ

埀�ग

埀�रॊ

Correct Answer :­अटशॎ 

7)

Question Stimulus :­

ोकऺॎ पऻलॕ भॕजॕ गयॕ प韀� कॊ उᴀर नऻॎ ॠ आनॕ पर उऺ ोशहय म姜� यॊद ोदलॊनॕ कॕ ोलए ोलखॊ जॊनॕ शॊलॊ प韀� कऻलॊतॊ ऻॖ ­

अोध ॐऺचनॊ

प॑韖� ठॊॠकन

अनॏៀ� मॊरक

埀�ॊपन

Correct Answer :­अनॏៀ� मॊरक 

8)

Question Stimulus :­

‘मॕघ’ कॊ पयॊ姜�यशॊचॎ नऻॎ ॠ ऻॖ­

मदन

शॊ㌰रद

धरॊधर

जलचर

Correct Answer :­मदन 

9)

Question Stimulus :­

‘प㌰र埀�द’ म姜� उपऺग姜� ऻॖ ­

प㌰र



पर

पर्

प㌰रॡ

Correct Answer :­प㌰र 

10)

Question Stimulus :­

“दॊँतख़ ॠ” तलॕ उॠगलॎ दबॊनॊ’ मॏऻॊशरॕ कॊ 埁�ॊ अथ姜� ऻॖ

दॊँतख़ कॕ नॎचॕ उॠगलॎ दबॊकर रखनॊ

बॏरॎ तरऻ ऻरॊनॊ

आៀ�य姜� ᐀कट करनॊ

ब㔛�त गॏ��ॊ करनॊ

Correct Answer :­आៀ�य姜� ᐀कट करनॊ 

11)

Question Stimulus :­

᐀ोतकॐ ल षៀ� म姜� कग़न ऺॊ उपऺग姜� ᐀यॏऀ ऻॖ ?

᐀ोत

प㌰र

परॊ

᐀

Correct Answer :­᐀ोत 

12)

Question Stimulus :­

‘ऺग़भॊៀ�’ षៀ� कॊ ोशलख़म चॏन姜� ­

अभॊगॊ

अभॊៀ�

कॏ भॊៀ�

दॏभॊ姜�ៀ�

Correct Answer :­दॏभॊ姜�ៀ� 

13)



Question Stimulus :­

ोन韢� न म姜� ऺॕ ‘ ॠऺकर’ ष韕� द कग़न ऺॊ ऻॖ?

बऻॊदॏर

ៀ� टॕषन

ॏऺबऻ

रॕलगॊीॎ

Correct Answer :­रॕलगॊीॎ 

14)

Question Stimulus :­

अथ姜� कॕ आधॊर पर ोन韢� नोलꏜ�खत शॊ� य कॊ भॕद बतॊइयॕ – शॊऻ! � यॊ छ� कॊ मॊरॊ ऻॖ।

ॠऺदॕऻशॊचक

ोशៀ� मयॊोद बख़धक

इ؀ छॊशॊचक

ॠऺकॕतशॊचक

Correct Answer :­ोशៀ� मयॊोद बख़धक 

15)

Question Stimulus :­

भॊरतॎय ष韕� द म姜� ᐀यॏऀ ᐀� यय ऻॖ ­

ई

आ

ईय

इय

Correct Answer :­ईय 

16)

Question Stimulus :­

‘खॠड’ कॊ एक अथ姜� ऻॖ ­

कलऻ

कॊँख

ोदषॊ



कॊँऺॊ

Correct Answer :­ोदषॊ 

17)

Question Stimulus :­

कग़न ऺॊ षៀ� “ऐꏜ�埀�क” कॊ ोशलख़म नऻॎ ॠ ऻॖ ­

अोनशॊय姜�

आोशभॊ姜�श

आॠत㌰रक

औोचက

Correct Answer :­अोनशॊय姜� 

18)

Question Stimulus :­

‘मॊलगख़दॊम’ म姜� ऺमॊऺ ऻॖ ­

तကॏ姛�ह

अퟀ�यॎभॊश

᠀ॠ᠀

ब㔛�᐀ॎोऻ

Correct Answer :­तကॏ姛�ह 

19)

Question Stimulus :­

ोन韢� न म姜� ऺॕ ोकऺ षៀ� म姜� अनॏៀ� शॊर कॊ ᐀यख़ग ोकयॊ गयॊ ऻॖ?

ग◌॑ऻ

砈ऻ

गॠदॊ

गॊँश

Correct Answer :­गॠदॊ 

20)

Question Stimulus :­

‘बॕलॊग’ म姜� ऺमॊऺ ऻॖ­



ो᠀गॏ

कम姜�धॊरय

ब㔛�᐀ॎोऻ

अퟀ�यॎभॊश

Correct Answer :­अퟀ�यॎभॊश 

21)

Question Stimulus :­

भॊश शॊఀ मॕ ँो姛�यॊ ______  ऻख़तॎ ऻॖ।

ब㔛�शचन

एकशचन

“क” और “ख“ दख़नख़ ँ

इनम姜� ऺॕ कख़ई नऻॎ ँ

Correct Answer :­एकशचन 

22)

Question Stimulus :­

ोनᤀोलꏜ�खत प韀�ॊॠष मॕ ँ᐀यॏऀ अलॠकॊर ऻॖ ____

यऻ दॕꏜ�खए, अरोशॠद – ऺॕ ोषषॏश॑∀ कॖऺॕ ऺख़ रऻॕ

उपमॊ अलॠकॊर

यमक अलॠकॊर

अनॏ᐀ॊऺ अलॠकॊर

㔛�पक अलॠकॊर

Correct Answer :­उपमॊ अलॠकॊर 

23)

Question Stimulus :­

शऻ कग़न ऺॊ षॊៀ� 韻� ऻॖ जख़ भॊहॊ कख़ षॏ฀‚ ऺश姜�मॊ܀ य 㔛�प ᐀दॊन कर उऺॕ बख़लनॕ ऺमझनॕ‚ पुनॕ श ोलखनॕ यख़埀� य बनॊतॊ ऻॖ?

ៀ� यॊकरण

भॊहॊ

ोलोप

बख़लॎ



Correct Answer :­ៀ� यॊकरण 

24)

Question Stimulus :­

जख़ षៀ� ोशषॕहण अथशॊ ो姛�यॊ­ोशषॕहण कॎ ोशषॕहतॊ बतलॊए, उऺॕ 埁�ॊ कऻतॕ ऻ姜�?

ोशषॕ܀

᐀ोशषॕहण

प㌰रमॊणशॊचक ोशषॕहण

ऺॊश姜�नॊोमक ोशषॕहण

Correct Answer :­᐀ोशषॕहण 

25)

Question Stimulus :­

‘अोनशॊय姜�’ कॊ ोशपरॎतॊथ姜�क ष韕� द बतॊइयॕ।

अोतश॑ो܀

शॖकꏜ�鐁क

अऺफलतॊ

अनॏ� कह姜�

Correct Answer :­शॖकꏜ�鐁क 

Topic:­ General Mathematics
1)

Question Stimulus :­

If 5 is subtracted from each of the two given numbers, then their ratio is 5 : 11. The mathematical representation of
the above statement is / योद दॎ गई दख़  ॠऺ埁�ॊओॠ म姜�, ᐀ကॕक ऺॕ 5 घटॊयॊ जॊयॕ, तब इनकॊ अनॏपॊत 5:11 ऻख़तॊ ऻॖ।  उपरख़ऀ
श� तៀ� य कॊ गोणतॎय ोन㔛�पण ऻॖ :

11x ­ 5y = 30

11x + 5y = 25

11x ­55 = 5y + 25

11x = 25y ­ 55

Correct Answer :­11x ­ 5y = 30 

2)

Question Stimulus :­

The mean of prime numbers between 10 and 40 is / 10 और 40 कॕ बॎच कॎ अभॊ埀� ऺँ埁�ॊओॠ कॊ मॊ᠀ ऻॖ



20

22.5

28.5

24

Correct Answer :­22.5 

3)

Question Stimulus :­

4x

2x

X

3x

Correct Answer :­2x 

4)

Question Stimulus :­

Correct Answer :­  

5)

Question Stimulus :­



Which of the following is a factor of p(x) = 2x3 – 3x2 – x + 4 / ोनᤀ म姜� ऺॕ p(x) = 2x3 – 3x2 – x + 4 कॊ गॏणन खॠड
कग़न ऺॊ ऻॖ

x + 1

x ­ 2

x ­1

x + 2

Correct Answer :­x + 1 

6)

Question Stimulus :­

The radius of a sphere is one fourth of the radius of another sphere, then their respective surface areas are in
the ratio / एक गख़लॕ कॎ ो韀�埀�ॊ, एक अ韀� गख़लॕ कॎ ो韀�埀�ॊ कॎ एक चग़थॊई ऻॖ। अत: 姛�मष: इनकॕ प॑�ॎय 埁ॕ�韀�फल कॊ
अनॏपॊत ऻॖ:

16 : 1

1 : 4

1 : 16

4 : 1

Correct Answer :­1 : 16 

7)

Question Stimulus :­

Correct Answer :­  

8)



Question Stimulus :­

The dimension of a rectangular box is 144cm x 180cm x 192cm. The longest rod, which can measure the length,
breadth and height of the box exactly, is /   एक आयतॊकॊर बॗ韁� कॊ आयॊम 144ऺॕमॎ  x 180ऺॕमॎ  x 192ऺॕमॎ  ऻॖ। ऺबऺॕ
लॠबॎ शऻ रॗड, जख़ बॗ韁� कॎ लॠबॊई, चग़ीॊई एशॠ ऊॠ चॊई कख़ ठॎक­ठॎक मॊप ऺकतॎ ऻॖ, उऺकॎ लᤀॊई बतॊइए

6cm / 6 ऺॕमॎ

24cm / 24 ऺॕमॎ

12cm / 12 ऺॕमॎ

14cm / 14 ऺॕमॎ

Correct Answer :­12cm / 12 ऺॕमॎ 

9)

Question Stimulus :­

The 3rd term of an A.P is 28 and the 11th term is 12 more than the 7th term. Find the 20th term. / एक ऺमॊॠतर
आरख़ऻण कॊ तॎऺरॊ (3rd) पद, 28 एशॠ 11शॊँ पद, 7श姜� पद ऺॕ 12 अोधक ऻॖ। 20शॊँ पद 埀�ॊत कर姜� ।

79

62

86

89

Correct Answer :­79 

10)

Question Stimulus :­

85°

95°

105°

75°

Correct Answer :­85° 

11)

Question Stimulus :­

The surface area of two spheres are in the ratio 9 : 16. Then ratio of their volumes is / दख़ गख़लकख़ ॠ कॕ प॑�ॎय
埁ॕ�韀�फल कॊ अनॏपॊत 9 : 16 ऻॖ। उनकॕ आयतनख़ ॠ कॊ अनॏपॊत ऻॖ

27 : 64



27 : 48

81 : 64

81 : 256

Correct Answer :­27 : 64 

12)

Question Stimulus :­

Segment OD is perpendicular to the chord AB of a circle with centre 'O' and BC is the diameter. If OD = 13cm ,
then AC = / ‘O’ क姜� 韀� शॊलॕ एक श॑ᴀ कॕ चॊप AB पर खॠड OD लॠब ऻॖ एशॠ BC ퟀ�ॊऺ ऻॖ।  योद OD = 13 ऺॕमॎ, तब AC =

18cm / 18 ऺॕमॎ

15cm / 15 ऺॕमॎ

26cm / 26 ऺॕमॎ

39cm / 39 ऺॕमॎ

Correct Answer :­26cm / 26 ऺॕमॎ 

13)

Question Stimulus :­

x = 3

y = 3

x + y = 3

x = y + 3

Correct Answer :­x = 3 

14)

Question Stimulus :­

A person moves either 1 unit in the direction of negative x­axis or 1 unit in the direction of positive y­axis per step.
Find the minimum number of steps he requires to reach P (­8, 2) starting from the origin. / एक मनॏ܀,  ᐀ोत चरण



ऋणॊퟀ�क x­अ埁� कॎ ोदषॊ म姜� 1 इकॊई चलतॊ ऻॖ यॊ ोफर धनॊퟀ�क y­अ埁� कॎ ोदषॊ म姜� 1 इकॊई चलतॊ ऻॖ। मॐल ोबॠदॏ  ऺॕ षॏ㔛�
करकॕ P (­8, 2) पर प㔛ँ�चनॕ कॕ ोलए उऺकॕ ᠀ॊरॊ चलनॕ शॊलॕ ܀ यॐनतम चरणख़ ॠ कॎ  ॠऺ埁�ॊ ोनकॊोलए।

6

10

16

8

Correct Answer :­10 

15)

Question Stimulus :­

The perimeter of a semicircular instrument, whose radius is 14 cm, is / एक अध姜�श॑ᴀॊकॊर यॠ韀� कॊ प㌰रमॊप बतॊइए,
ोजऺकॎ ो韀�埀�ॊ 14 ऺॕमॎ ऻॖ:

84 cm / 84 ऺॕमॎ

72 cm / 72 ऺॕमॎ

68 cm / 68 ऺॕमॎ

76 cm / 76 ऺॕमॎ

Correct Answer :­72 cm / 72 ऺॕमॎ 

16)

Question Stimulus :­

In the second quadrant the coordinates of p (x , y) are / दॐ ऺरॕ चतॏथॊ姜�ष म姜�, p (x , y) कॕ ोनद돝�षॊॠक ऻ姜�

x > 0 , y < 0

x < 0 , y < 0

x < 0 , y > 0

x > 0 , y > 0

Correct Answer :­x < 0 , y > 0 

17)

Question Stimulus :­

What is the length of longest rod that can be kept in a rectangular box of dimensions 12cm x 6cm x 4cm? is /
ऺबऺॕ लᤀॎ छीॎ, ोजऺॕ 12ऺॕमॎ x 6ऺॕमॎ x 4ऺॕमॎ आयॊम कॕ एक आयतॊकॊर ब韁ॕ� म姜� रखॊ जॊ ऺकतॊ ऻॖ, कॎ ल韢� बॊई
埀�ॊत कर姜�?

14cm / 14 ऺॕमॎ



16cm / 16 ऺॕमॎ

Correct Answer :­14cm / 14 ऺॕमॎ 

18)

Question Stimulus :­

1

2

Correct Answer :­  

19)

Question Stimulus :­

The points A(3 , 2) , B(6 , 2), C(5 , 4) and D(4 , 4) are the vertices of a trapezium marked on a graph. If the
trapezium is moved 4 squares to the left and 5 squares up , then the coordinates of new position of points  A' and
C' respectively of the trapezium A'B'C'D' are / ोबॠदॏ   A(3 , 2) , B(6 , 2), C(5 , 4) एशॠ  D(4 , 4),  एक 砈ॊफ पर अॠोकत
एक ऺमलॠब कॕ षॎह姜� ऻ姜�। योद ऺमलॠब 4 शग姜� बॊईॠ ओर एशॠ 5 शग姜� ऊपर कॎ ओर ꏜ�खऺकॊ ोदयॊ जॊतॊ ऻॖ, तब ऺमलॠब A'B'C'D' कॕ
ोबॠदॏ  A एशॠ C कॎ नई अशៀ�थॊ कॕ ोनद돝�षॊॠक 姛�मष: ऻ姜�

(0 , 6), (5 , 1)

(­1 , 7),  (1 , 9)

(­2 , 4), (­1 , 8)

(­1 , 5), (2 , 8)

Correct Answer :­(­1 , 7),  (1 , 9) 

20)

Question Stimulus :­

In a circle of radius 6 cm, an arc PQ subtends an angle of 600 at the center of a circle. Then the length of the
arc is / 6 ऺॕमॎ ो韀�埀�ॊ शॊलॕ एक श॑ᴀ म姜�, 600 कॕ कख़ण शॊलॊ एक चॊप PQ, श॑� त कॕ क姜� 韀� पर अॠत㌰रत ऻख़तॊ ऻॖ। तब उऺ चॊप
कॎ लॠबॊई ऻॖ:



Correct Answer :­  

21)

Question Stimulus :­

The equation which passes through the origin is / शऻ ऺमॎकरण, जख़ मॐल ोबॠदॏ ऺॕ ऻख़कर गॏजरतॊ ऻॖ:

x = 3y

x + 6 = 0

x + y =1

y + 2 = 6

Correct Answer :­x = 3y 

22)

Question Stimulus :­



Correct Answer :­  

23)

Question Stimulus :­

Surface area of a sphere is 28cm2. If the sphere is divided into two hemispheres, then the total surface area of
one of the hemispheres is / एक गख़लॕ कॊ प॑�ॎय 埁ॕ�韀�फल 28ऺॕमॎ2 ऻॖ। योद इऺ गख़लॕ कख़ दख़ अ฀姜�गख़लख़ ॠ म姜� ोशभॊोजत
ोकयॊ जॊए, तब एक अ฀姜�गख़लॕ कॊ कॏ ल प॑�ॎय 埁ॕ�韀�फल ऻॖ:

35 cm2  / 35 ऺॕमॎ2

27 cm2  / 27 ऺॕमॎ2

29 cm2  / 29 ऺॕमॎ2

21cm2  / 21 ऺॕमॎ2

Correct Answer :­21cm2  / 21 ऺॕमॎ2 

24)

Question Stimulus :­

Correct Answer :­  

25)

Question Stimulus :­

The point which doesn't lie on the circle, with centre O (5 , 2) and radius 5cm, is / शऻ ोबॠदॏ, जख़ क姜� 韀� O (5, 2) एशॠ
ो韀�埀�ॊ 5 ऺॕमॎ शॊलॕ श॑ᴀ पर ꏜ�ៀ�थत नऻॎ ॠ ऻॖ :



(8 , 6)

(8 , ­2)

(2 , ­2)

(­2 , 2)

Correct Answer :­(­2 , 2) 

Topic:­ General English
1)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

Jane is never satisfied.  She _________________.

shall always complain

will always complain

always complained

is always complaining

Correct Answer :­is always complaining 

2)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

________ you have come to office, you may as well complete the backlog.

And

But

Since

For instance

Correct Answer :­Since 

3)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

‘What country do you come from?’ said the police officer.

The police officer asked me from what country I came from.

The police officer asked what country I came from.

The police officer wanted to know what country I am coming from.



The police officer asked me what country did I came from.

Correct Answer :­The police officer asked what country I came from. 

4)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

It is more difficult to predict the results of this election by the previous one.

It is more difficult

to predict the results

of this election

by the previous one.

Correct Answer :­by the previous one. 

5)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

Hands up this is a hold up

'Hands up! This is a hold­up.'

'Hands up, this is a hold up.'

'Hands up – this, is a hold­up.

Hand’s up! This is a hold up!

Correct Answer :­'Hands up! This is a hold­up.' 

6)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning:

 

This is the camera. I took the pictures of the party with it.

This is the camera through which I took the pictures of the party.

This is the camera into which I took the pictures of the party.

This is the camera with which I took the pictures of the party.

This is the camera in which I took the pictures of the party.



Correct Answer :­This is the camera with which I took the pictures of the party. 

7)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

Most children ________ to speak by the age of three.

are learning

learn

learns

learned

Correct Answer :­learn 

8)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

Can the children get tasty meals at school?

I asked if the children can be getting tasty meals at school.

I asked if the children could get tasty meals at school?

I asked if the children can they get tasty meals at school?

I asked if the children could get tasty meals at school.

Correct Answer :­I asked if the children could get tasty meals at school. 

9)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

While the firm was ________ the process of fitting the machinery, the entire plant was shut down

into

in

on

onto

Correct Answer :­in 

10)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:



The files are _______ the alphabetical order, so don't meddle _______ them.

into, around

from, in

by, through

in, with

Correct Answer :­in, with 

11)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

                                   

The old man had _________ heart attack this morning.

less

many

another

some

Correct Answer :­another 

12)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

We enclose payment with our order.

Our payment was enclosed with our order.

Payment is enclosed with our order.

Payment is enclosed with our order by us

Payment is being enclosed with our order.

Correct Answer :­Payment is enclosed with our order. 

13)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

Deepa and Rani love chocolates but their brothers does not like them.



Deepa and Rani love chocolates

but their brothers

does not like them.

No error

Correct Answer :­does not like them. 

14)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:

They had finished their dinner. They went to bed.

(Combine the two sentences into one sentence)

No sooner did they finish their dinner then they went to bed.

As soon as they had finished their dinner, they went to bed.

Before finishing their dinner they went to bed.

No sooner they finish their dinner they went to bed.

Correct Answer :­As soon as they had finished their dinner, they went to bed. 

15)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:

 

We delicately tried our best to spread our business in all the states of our nation.

carefully

diplomatically

desperately

cunningly

Correct Answer :­carefully 

16)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

 

If he doesn't mend his ways, I'm sure his parents will _______ own him.

de­



mis­

dis­

re­

Correct Answer :­dis­ 

17)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

You may borrow my bicycle _______ you are careful with it.

even if

as long as

as much as

excepting

Correct Answer :­as long as 

18)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

 

Economics __________ an interesting subject.

are

is

are being

is being

Correct Answer :­is 

19)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

We decided to visit Spain Greece Portugal and Italys mountains

We decided to visit: Spain, Greece, Portugal and Italy's mountains.

We decided to visit Spain, Greece, Portugal and Italys mountains.

We decided to visit Spain, Greece, Portugal and Italy's mountains.



We decided to visit Spain Greece Portugal and Italys’ mountain’s.

Correct Answer :­We decided to visit Spain, Greece, Portugal and Italy's mountains. 

20)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

Somebody has driven the lorry off the road.

The lorry has been driven off the road by someone.

The lorry was driven off the road.

The lorry has been driven off the road by somebody.

Somebody has had the lorry been driven off the road.

Correct Answer :­The lorry has been driven off the road by somebody. 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s
Institute of Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage,
may offer even more relief if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block
inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine,
MSM, both, or a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own,
but the combo was even more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst,
who’s participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

 

How do arthritis medicines work?

By preventing inflammation.

By preventing cartilage.

By blocking inflammation and preserving cartilage.

By promoting lubrication at the joints.

Correct Answer :­By blocking inflammation and preserving cartilage. 

2)

Question Stimulus :­



Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even
more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

 

Which part of the body does arthritis affect?

Legs.

Arms.

Shoulders.

Joints.

Correct Answer :­Joints. 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even
more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

 

What does ‘placebo’ mean?

A suitable drug

A suitable supplement

A suitable tranquilizer

A suitable pseudo­medicine

Correct Answer :­A suitable pseudo­medicine 

4)



Question Stimulus :­

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even
more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

What is the function of methylsulfonylmethane (MSM)?

Providing pain relief.

Providing a reduction in inflammation.

Providing a means to block inflammation.

Providing further damage to cartilage.

Correct Answer :­Providing a means to block inflammation. 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even
more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

What do most arthritis patients find relief in?

Pain killers.

Surgery.

Glucosamine.

Pain relief spray.

Correct Answer :­Glucosamine. 

Topic:­ General Knowledge
1)



Question Stimulus :­

Madhya Pradesh is the ________ state by area in India. / 埁ॕ�韀�फल कॕ 埀�ो܀कख़ण ऺॕ, म᠀᐀दॕष भॊरत कॊ ________  रॊ埀�
ऻॖ।

Second largest / दॐ ऺरॊ ऺबऺॕ बीॊ

Largest / ऺबऺॕ बीॊ

Third largest / तॎऺरॊ ऺबऺॕ बीॊ

Fourth largest / चग़थॊ ऺबऺॕ बीॊ

Correct Answer :­Second largest / दॐ ऺरॊ ऺबऺॕ बीॊ 

2)

Question Stimulus :­

Alfred Park, the biggest park in Allahabad was renamed after freedom fighter ____________. / इलॊऻॊबॊद कॕ
ऺबऺॕ बीॕ अ韍�韀ॕ�ड पॊक姜�  कॊ नॊम बदल कर ៀ�तॠ韀�तॊ ऺॕनॊनॎ _______ कॕ नॊम पर कर ोदयॊ गयॊ।

Chandra Shekhar Azad / चॠ韀�षॕखर आजॊद

Bhagat Singh / भगत ो ॠऺऻ

Sardar Vallabhai Patel / ऺरदॊर श騂भभॊई पटॕल

Lala Lajpat Rai / लॊलॊ लॊजपत रॊय

Correct Answer :­Chandra Shekhar Azad / चॠ韀�षॕखर आजॊद 

3)

Question Stimulus :­

___________ is a strait between Tamil Nadu and Sri Lanka. / _________ , तोमलनॊडॏ  एशॠ 韀�ॎलॠकॊ कॕ बॎच एक
जलडम㔛�म᠀ ऻॖ।

 Bering Strait / बॕ㌰रॠग जलडम㔛�म᠀

Palk Strait / पॊक जलडम㔛�म᠀

Strait of Gibraltar / ोज᐀ॊ琀र जलडम㔛�म᠀

Duncan Passage / डॠकन जलऺꏜ�ៀ�

Correct Answer :­Palk Strait / पॊक जलडम㔛�म᠀ 

4)

Question Stimulus :­

The state of Telangana was officially formed in ________. / आोधकॊ㌰रक तग़र पर तॕलॠगॊनॊ रॊ埀� कॊ गठन ________
म姜� ोकयॊ गयॊ।

 2016



 2015

 2014

 2011

Correct Answer :­ 2014 

5)

Question Stimulus :­

Which one of these dams is not built on Betwa? / इन बॊॠधख़ ॠ म姜� ऺॕ कग़न ऺॊ बॊॠध बॕतशॊ पर नऻॎ ॠ बनॊयॊ गयॊ ऻॖ?

Rajghat / रॊजघॊट

Matatila / मॊतॊटॎलॊ

Parichha / परॎछॊ

Rana Pratap Sagar Dam / रॊणॊ ᐀तॊप ऺॊगर बॊॠध

Correct Answer :­Rana Pratap Sagar Dam / रॊणॊ ᐀तॊप ऺॊगर बॊॠध 

6)

Question Stimulus :­

Dr. B R Ambedkar was selected to the constituent assembly from which state in India? / डॗ. बॎ आर अᤀॕडकर
भॊरत कॕ ोकऺ रॊ埀� ऺॕ  ॠऺ ोशधॊन ऺभॊ कॕ ोलए चॏनॕ गए थॕ?

Maharashtra / मऻॊरॊ܀㒆�

Madhya Pradesh / म᠀᐀दॕष

West Bengal / पोៀ�म बॠगॊल

Uttar Pradesh / उᴀर ᐀दॕष

Correct Answer :­West Bengal / पोៀ�म बॠगॊल 

7)

Question Stimulus :­

Ujjain is located at the eastern bank of  _________ river. / उ韂ॖ�न, _______ नदॎ कॕ पॐश돝� तट पर ꏜ�ៀ�थत ऻॖ।

Son / ऺख़न

Narmadha / नम姜�दॊ

Tapti / तॊ␀ॎ

Shipra / ोष᐀ॊ

Correct Answer :­Shipra / ोष᐀ॊ 

8)



Question Stimulus :­

Which Indian state is famous for sandal wood trees? / कग़न ऺॊ भॊरतॎय रॊ埀� चॠदन कॕ पॕीख़ ॠ कॕ ोलए ᐀ोऺ฀ ऻॖ?

Rajasthan / रॊजៀ�थॊन

Uttar Pradesh / उᴀर ᐀दॕष

Karnataka / कनॊ姜�टक

Maharashtra / मऻॊरॊ܀㒆�

Correct Answer :­Karnataka / कनॊ姜�टक 

9)

Question Stimulus :­

_______ is the state tree of Madhya Pradesh. / ______ म᠀᐀दॕष कॊ रॊ埀� श॑埁� ऻॖ।

Teak / टॎक

Sal / ऺॊल

Banyan / बरगद

Bamboo / बॊॠऺ

Correct Answer :­Banyan / बरगद 

10)

Question Stimulus :­

How many Indian athletes participated in the 2016 Summer Paralympics held in Rio de Janeiro ? / ㌰रयख़ ोड
जॕनॕ㌰रयख़ म姜� आयख़ोजत ऻख़नॕ शॊलॕ ऺमर पॖरॊोलꏜ�ៀ�韁�, 2016 म姜� भॊरत कॕ ोकतनॕ एथलॎटख़ ॠ नॕ भॊग ोलयॊ थॊ?

16

17

19

23

Correct Answer :­19 

11)

Question Stimulus :­

India is a peninsula because it is surrounded by water on ______ sides. / भॊरत एक ᐀ॊय᠀ॎप ऻॖ, 埁�ख़ॠोक यऻ ______
ओर पॊनॎ ऺॕ ोघरॊ 㔛�आ ऻॖ।

Two / दख़

Three / तॎन



Four / चॊर

One / एक

Correct Answer :­Three / तॎन 

12)

Question Stimulus :­

In which state is the Sharavati Hydro Power Project Plant located? / ोकऺ रॊ埀� म姜� षरॊशतॎ जलोशद्यॏ त
प㌰रयख़जनॊ  ॠऺयॠ韀� ꏜ�ៀ�थत ऻॖ?

Maharashtra / मऻॊरॊ܀㒆�

Telangana State / तॕलॠगॊनॊ रॊ埀�

Karnataka / कनॊ姜�टक

Tamil Nadu / तोमलनॊडॏ

Correct Answer :­Karnataka / कनॊ姜�टक 

13)

Question Stimulus :­

___________ holds two Guinness records for receiving the maximum amount of rainfall in a single year and in a
single month. / ________ कॕ नॊम पर, एक ऻॎ शह姜� एशॠ एक ऻॎ मऻॎनॕ म姜� शहॊ姜� कॎ अोधकतम मॊ韀�ॊ ᐀ॊ␀ करनॕ कॕ ोलए दख़
ोगनॎज ㌰रकॗड姜�  दज姜� ऻ姜�।

Cherrapunji / चॕरॊपॐँजॎ

Shillong / ोषलॊॠग

Tura / तॏरॊ

Jowai / जख़शॊई

Correct Answer :­Cherrapunji / चॕरॊपॐँजॎ 

14)

Question Stimulus :­

The Sanchi Stupa was originally commissioned by the emperor _________. / ऺॊॠचॎ ퟀ�ॐप कख़ मॐल 㔛�प ऺॕ ऺ᐀ॊट
_________ ᠀ॊरॊ बनशॊयॊ गयॊ थॊ।

Ashoka / अषख़क

Rudradaman / 㔛�韀�दमन

Chandra Gupta I / चៀ�गॏ␀ I

Chandra Gupta II / चៀ�गॏ␀ II

Correct Answer :­Ashoka / अषख़क 



15)

Question Stimulus :­

The sharing of waters of Cauvery river has been the source of a serious conflict between which of the
following two states? / कॊशॕरॎ नदॎ कॕ जल कॊ बॠटशॊरॊ, ोनᤀोलꏜ�खत म姜� ऺॕ ोकन दख़ रॊ埀�ख़ॠ कॕ बॎच एक गॠभॎर  ॠऺघह姜� कॊ
कॊरण रऻॊ ऻॖ?

Tamil Nadu and Karnataka / तोमलनॊडॏ एशॠ कनॊ姜�टक 

Tamil Nadu and Kerala / तोमलनॊडॏ  एशॠ कॕरल

 Kerala and Karnataka / कॕरल एशॠ कनॊ姜�टक

Kerala and Andhra Pradesh / कॕरल एशॠ आॠ᐀ ᐀दॕष  

Correct Answer :­Tamil Nadu and Karnataka / तोमलनॊडॏ एशॠ कनॊ姜�टक  

16)

Question Stimulus :­

To which country does Angelique Kerber the 2016 US Open Women’s singles title holder belong to? / यॐएऺ
ओपॕन 2016 कॎ मोऻलॊ एकल ो़खतॊब कॎ ोशजॕतॊ, एनजॕोलक़ कॕब姜�र ोकऺ दॕष कॎ ोनशॊोऺनॎ ऻ姜�?

Russia / 㔛�ऺ

Germany / जम姜�नॎ

Slovakia / ܀ख़शॊोकयॊ

None of the above / उपरख़� त म姜� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Germany / जम姜�नॎ 

17)

Question Stimulus :­

The Balimela Reservoir Project is located in which state of India? / बॊोलमॕलॊ जलॊषय प㌰रयख़जनॊ, भॊरत कॕ
ोकऺ रॊ埀� म姜� ꏜ�ៀ�थत ऻॖ?

Madhya Pradesh / म᠀᐀दॕष

Maharashtra / मऻॊरॊ܀㒆�

Gujarat / गॏजरॊत

Odisha / ओोीऺॊ

Correct Answer :­Odisha / ओोीऺॊ 

18)

Question Stimulus :­

Sandhya Agarwal is a former captain of Indian women’s ____________ team. /  ॠऺ᠀ॊ अ砈शॊल, भॊरतॎय मोऻलॊ
____________ टॎम कॎ पॐश姜� क␀ॊन ऻ姜�।



Hockey / ऻॗकॎ

Cricket / ो姛�कॕट

Kabaddi / कब਀ॎ

Tennis / टॕोनऺ

Correct Answer :­Cricket / ो姛�कॕट 

19)

Question Stimulus :­

Malwa Utsav is held in __________ in Madhya Pradesh. / मॊलशॊ उퟀ�श, म᠀ ᐀दॕष कॕ __________ म姜� आयख़ोजत
ोकयॊ जॊतॊ ऻॖ।

Ujjain / उ韂ॖ�न

Bhopal / भख़पॊल

Gwalior / ៀ�ॊोलयर

Jabalpur / जबलपॏर

Correct Answer :­Ujjain / उ韂ॖ�न 

20)

Question Stimulus :­

Who is the CEO of Google?  / गॐगल कॕ ऺॎईओ कग़न ऻ姜�?

Larry Page / लॖर돝� पॕज

Sergey Brin / ऺग돝� ो᐀न

Sundar Pichai /  ॏऺॠदर ोपఀई

Satya Nadella / ऺကॊ नॊडॕलॊ

Correct Answer :­Sundar Pichai /  ॏऺॠदर ोपఀई 

21)

Question Stimulus :­

Tipu Sultan Masjid is a famous mosque in __________. / टॎपॐ  ॏऺ🐀ॊन मꏜ�峀�द, __________ कॎ एक ᐀ोऺ฀ मꏜ�峀�द
ऻॖ।

 Durgapur / दॏगॊ姜�पॏर

 Kolkata / कख़लकॊतॊ

 Howrah / ऻॊशीॊ

 Kalyani / क稂ॊणॎ



Correct Answer :­ Kolkata / कख़लकॊतॊ 

22)

Question Stimulus :­

_______ is the only female Prime Minister of India to date. / भॊरत कॎ अब तक कॎ एकमॊ韀� मोऻलॊ ᐀धॊनमॠ韀�ॎ
_______ ऻ姜�।

Indira Gandhi / इॠोदरॊ गॊँधॎ

Pratibha Patil / ᐀ोतभॊ पॊोटल

Sheila Dikshit / षॎलॊ दॎो埁�त

Meira Kumar / मॎरॊ कॏ मॊर

Correct Answer :­Indira Gandhi / इॠोदरॊ गॊँधॎ 

23)

Question Stimulus :­

_____________ was the first female Chief minister of Delhi. / ोद騂ॎ कॎ ᐀थम मोऻलॊ मॏ埁�मॠ韀�ॎ __________ थॎ।

 Sheila Dikshit / षॎलॊ दॎो埁�त

 Sushma Swaraj /  ॏऺहमॊ ៀ�रॊज

 Kiran Bedi / ोकरण बॕदॎ

 Sonia Gandhi / ऺख़ोनयॊ गॊँधॎ

Correct Answer :­ Sushma Swaraj /  ॏऺहमॊ ៀ�रॊज 

24)

Question Stimulus :­

When did the Securities and Exchange Board of India come into existence? / भॊरतॎय ᐀ोतभॐोत और ोशोनमय
बख़ड姜�  कब अꏜ�ퟀ�� श म姜� आयॊ?

1988

1992

1994

1996

Correct Answer :­1992 

25)

Question Stimulus :­

Chandigarh is the capital of two states namely _______ and ________. / चॠडॎगु, दख़ रॊ埀�ख़ॠ अथॊ姜�त् _______ एशॠ
_______  कॎ रॊजधॊनॎ ऻॖ।



 Punjab, Uttarakhand / पॠजॊब, उᴀरॊखॠड

 Haryana, Uttarakhand / ऻ㌰रयॊणॊ, उᴀरॊखॠड

 Punjab, Haryana / पॠजॊब, ऻ㌰रयॊणॊ

Haryana, Rajasthan / ऻ㌰रयॊणॊ, रॊजៀ�थॊन 

Correct Answer :­ Punjab, Haryana / पॠजॊब, ऻ㌰रयॊणॊ 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Which command is used to determine if an IP access list is enabled on a particular interface? / योद एक
IP ए� ऺ ॕऺ ोलៀ� ट ोशोष韖� ट इॠटरफॕऺ पर ऻॖ तख़ ोनधॊ姜�रण कॕ ोलए ोकऺ कमॊॠड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

show access­lists / षख़ ए� ऺ ॕऺ­ोलៀ� ट्ऺ

show interface / षख़ इॠटरफॕऺ 

show ip interface / षख़ ip इॠटरफॕऺ  

show interface access­lists / षख़ इॠटरफॕऺ ए� ऺ ॕऺ ­ोलៀ� ट्ऺ

Correct Answer :­show ip interface / षख़ ip इॠटरफॕऺ   

2)

Question Stimulus :­



1 only / कॕशल 1

1 and 4 / 1 और 4

2 and 3 / 2 और 3

3 only / कोटल 3

Correct Answer :­1 and 4 / 1 और 4 

3)

Question Stimulus :­

Which layers of the OSI model are managed by a network protocol such as Microsoft NetBEUI? / OSI मॗडल कॎ
कग़न ऺॎ लॕय 姜ऺ�, Microsoft NetBEUI कॕ जॖऺॕ नॕटशक姜�  ᐀ख़टख़कॗल ᠀ॊरॊ ᐀बॠोधत कॎ जॊतॎ ऻ姜�?  

network and transport / नॕटशक姜�  तथॊ ट㒆� ॊॠऺपख़ट姜�

physical and data link / ोफोजकल तथॊ डॕटॊ ोलॠक

transport and session / ट㒆� ॊॠऺपख़ट姜� तथॊ ऺॕषन



media access control and logical link control / मॎोडयॊ ए� ऺ ॕऺ कॠ ट㒆� ख़ल तथॊ लॗोजकल ोलॠक
कॠ ट㒆� ख़ल

Correct Answer :­network and transport / नॕटशक姜�  तथॊ ट㒆� ॊॠऺपख़ट姜� 

4)

Question Stimulus :­

In MS Word, “Ctrl + Up Arrow” is used to _______. / MS Word म姜� ͞Ctrl + Up Arroǁ͟ कॊ उपयख़ग
ोकयॊ जॊतॊ ऻॖ ­

Moǀes the Đursor oŶe page up / क 姜ऺ�र कख़ एक पॕज ऊपर प㔛�ॠचॊनॕ कॕ ोलए

Moǀes the Đursor oŶe liŶe up / क 姜ऺ�र कख़ एक लॊइन ऊपर प㔛�ॠचॊनॕ कॕ ोलए

Moǀes the Đursor oŶe sĐreeŶ up / क 姜ऺ�र कख़ एक ៀ� 姛�ॎन ऊपर प㔛�ॠचॊनॕ कॕ ोलए

Moǀes the Đursor oŶe paragraph up / क 姜ऺ�र कख़ एक पॖरॊ砈ॊफ ऊपर प㔛�ॠचॊनॕ कॕ ोलए

Correct Answer :­Moǀes the Đursor oŶe paragraph up / क 姜ऺ�र कख़ एक पॖरॊ砈ॊफ ऊपर प㔛�ॠचॊनॕ कॕ ोलए 

5)

Question Stimulus :­

In Linux, what command is used to display the characteristics of a process? /
ोलन� ऺ  म姜�, ᐀ॗऺॕऺ कॕ कॖरॕ� टरꏜ�܀� ऺ  कख़ ोडៀ� ؀ लॕ करनॕ कॕ ोलए ोकऺ कमॊॠड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Au

Ps

Du

Pid

Correct Answer :­Ps 

6)

Question Stimulus :­

In MS Word, If you press PgUp Key from the keyboard. It _____. / MS Word म姜� योद आप PgUp Key दबॊतॕ ऻ姜� तख़ यॕ ­

Moves the cursor one line up / क 姜ऺ�र कख़ एक लॊइन ऊपर प㔛�ॠचॊ दॕतॊ ऻॖ

Moves the cursor one screen up / क 姜ऺ�र कख़ एक ៀ� 姛�ॎन ऊपर प㔛�ॠचॊ दॕतॊ ऻॖ

Moves the cursor one page up / क 姜ऺ�र कख़ एक पॕज ऊपर प㔛�ॠचॊ दॕतॊ ऻॖ

Moves the cursor one paragraph up / क 姜ऺ�र कख़ एक पॖरॊ砈ॊफ ऊपर प㔛�ॠचॊ दॕतॊ ऻॖ

Correct Answer :­Moves the cursor one screen up / क 姜ऺ�र कख़ एक ៀ� 姛�ॎन ऊपर प㔛�ॠचॊ दॕतॊ ऻॖ 

7)

Question Stimulus :­



Which of the following is the correct regarding meta tag in HTML? / HTML म姜� मॕटॊ टॖग कॕ
ॠऺदभ姜� म姜� ोन韢� न म姜� ऺॕ कग़न ऺॊ ोशक韍� प ऺऻॎ ऻॖ?

Correct Answer :­  

8)

Question Stimulus :­

In MS Excel 2007, when the formula bar is active, you can see __________. / MS Excel 2007 म姜�, जब फॗमॐ姜�लॊ बॊर
एꏜ�ퟆ�श ऻख़, तब आप __________ दॕख ऺकतॕ ऻ姜�।

The edit forŵula ďu៭�oŶ / एोडट फॗमॐलॊ बटन

The ĐaŶĐel ďu៭�oŶ / क姜� ोऺल बटन

The eŶter ďu៭�oŶ / एॠ टर बटन

All of the aďoǀe / उपरख़� त ऺभॎ

Correct Answer :­All of the aďoǀe / उपरख़� त ऺभॎ 

9)

Question Stimulus :­

Which of the following is a correct format of Email address? / ई­मॕल ए਀㒆� ॕऺ कॊ ोन韢� न म姜� ऺॕ � यॊ ऺऻॎ ᐀ॊ㔛�प ऻॖ?

name@website@info

name@website.com

www.nameofebsite.com

name.website.com

Correct Answer :­name@website.com 

10)

Question Stimulus :­

In MS­DOS, which command displays the directory list including files in tree
structure? / MS‐DOS म姜�, कग़न ऺॎ कमॊॠड ट㒆� ॎ ៀ� ट㒆� � चर म姜� फॊइल ोलៀ� ट ऺोऻत डॊइरॕ� टरॎ ोडៀ� ؀ लॕ करतॎ ऻॖ?

Dir/s/f



Tree/f

Tree/s/f

Dir/f

Correct Answer :­Tree/f 

11)

Question Stimulus :­

Where is a hub specified in the OSI model? / OSI मॗडल म姜� ऻब कऻॊॠ पर ोनोद姜�韖� ट ऻख़तॊ ऻॖ?

Session layer / ऺॕषन लॕयर

Physical layer / ोफोजकल लॕयर

Data Link layer / डॕटॊ ोलॠक लॕयर

Application layer / ए؀ लॎकॕषन लॕयर

Correct Answer :­Physical layer / ोफोजकल लॕयर 

12)

Question Stimulus :­

Which of the following is the correct HTML tag to make a text italic? / टॕ� ៀ� ट कख़ इटॖोलक बनॊनॕ कॕ ोलए ोन韢� न म姜� ऺॕ
� यॊ ऺऻॎ HTML टॖग ऻॖ? 

<i>

<il>

<itl>

<italiĐ>

Correct Answer :­<i> 

13)

Question Stimulus :­

In MS­DOS, which command should be used to display all files within the specified
subordinate directory of the subdirectory? / MS­DOS म姜�, ोकऺ कमॊॠड कॊ उपयख़ग ऺबडॊइरॕ� टरॎ
कॎ ोनोद姜�韖� ट ऺबऑोड姜�नॕट डॊइरॕ� टरॎ म姜� ऺमៀ� त फॊइ韍� ऺ  ोडៀ� ؀ लॕ करनॕ कॕ ोलए ोकयॊ जॊनॊ चॊोऻए?

Dir\pathŶaŵe

Dir\pathŶaŵe\pathŶaŵe

Dir/Đh

Dir\pathŶaŵe\fileŶaŵe

Correct Answer :­Dir\pathŶaŵe\pathŶaŵe 



14)

Question Stimulus :­

In HTML how many headings are defined? / HTML म姜�, ोकतनॕ ऻॕोडॠ埀� ऺ  प㌰रभॊोहत ऻ姜�?

<hϭ> to <hϰ>

<hϭ> to <hϱ>

<hϭ> to <hϲ>

<hϭ> to <h9>

Correct Answer :­<hϭ> to <hϲ> 

15)

Question Stimulus :­

In MS­Word 2007, what are inserted as cross­reference in Word? / शड姜�  म姜� 姛�ॗऺ­रॕफर姜�ऺ कॕ
ोलए � यॊ इ܀ ऺ ट姜� ोकयॊ जॊतॊ ऻॖ?

Placeholders / ؀ लॕऺऻख़韍� ड 姜ऺ�

Bookmarks / बॏकमॊ� ऺ 姜�

Objects / ऑ韕� जॕ� ट्ऺ

Word fields / शड姜�  फॊइ韍� ऺ

Correct Answer :­Word fields / शड姜�  फॊइ韍� ऺ  

16)

Question Stimulus :­

In MS Excel worksheet, you can select ___________. / In MS Excel  शक姜� षॎट म姜�, आप ऺॕलॕ� ट कर ऺकतॕ ऻ姜� ­

The eŶ៭�re ǁorksheet / पॐरॎ शक姜� षॎट

Roǁs / रख़ि

ColuŵŶs / कॗल韢� ऺ

All of the aďoǀe / उपरख़� त ऺभॎ

Correct Answer :­All of the aďoǀe / उपरख़� त ऺभॎ 

17)

Question Stimulus :­

What is the purpose of Grouping / Ungrouping cells in MS Excel (ver.2007 onwards)?
/ MS Excel (शि姜�न 2007 और इऺऺॕ आगॕ शॊलॕ) म姜�, 砈ॏोपॠग / अन砈ॏोपॠग कॊ � यॊ उ埀ॕ�ែ� य ऻख़तॊ ऻॖ?

Tie the cells together as a single table of data which can be copied to
other worksheets / ऺॕ韍� ऺ  कख़ डॕटॊ कॎ ो ॠऺगल टॕबल कॕ 㔛�प म姜� एक ऺॊथ  ॠऺब฀ करतॊ ऻॖ ोजऺॕ

दॐ ऺरॎ शक姜� षॎट्ऺ म姜� कॗपॎ ोकयॊ जॊ ऺकॕ



दॐ ऺरॎ शक姜� षॎट्ऺ म姜� कॗपॎ ोकयॊ जॊ ऺकॕ

Tie a range of cells together so that they can be expanded or collapsed /
ऺॕ韍� ऺ  कॎ र姜�ज कख़ एक ऺॊथ  ॠऺब฀ करतॊ ऻॖ ोजऺऺॕ उ܀ ऻ姜� ोशៀ� तॊ㌰रत यॊ ोऺकख़ीॊ जॊ ऺकॕ

Create a combination sort and filter / कॗꏜ�ᤀनॕषन ऺॗट姜� तथॊ ोफ韍� टर ो姛�एट करनॊ

None of the above / उपरख़� त म姜� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Tie a range of cells together so that they can be expanded or
collapsed / ऺॕ韍� ऺ  कॎ र姜�ज कख़ एक ऺॊथ  ॠऺब฀ करतॊ ऻॖ ोजऺऺॕ उ܀ ऻ姜� ोशៀ� तॊ㌰रत यॊ ोऺकख़ीॊ जॊ ऺकॕ 

18)

Question Stimulus :­

IŶ LiŶuǆ, ǁhiĐh of the folloǁiŶg is Ŷot a ĐoŵŵuŶiĐa៭�oŶ ĐoŵŵaŶd? / ोलन� ऺ  म姜�, ोन韢� न म姜� ऺॕ � यॊ एक
क韢� यॏोनकॕषन कमॊॠड नऻॎ ॠ ऻॖ?

Grep

Mail

Mesg

write

Correct Answer :­Grep 

19)

Question Stimulus :­

WheŶ Ǉou liŶk data ŵaiŶtaiŶed iŶ aŶ eǆĐel ǁorkďook to a ǁord doĐuŵeŶt / जब आप ए� ऺ ॕल शक姜� बॏक म姜� तॖयॊर ोकयॊ
गयॊ डॕटॊ, शड姜�  ड� यॐम姜�ट ऺॕ ोलॠक करतॕ ऻ姜�, तख़ ­

The ǁord doĐuŵeŶt ĐaŶŶot ďe edit / शड姜�  ड� यॐम姜�ट कख़ एोडट नऻॎ ॠ ोकयॊ जॊ ऺकतॊ ऻॖ

The ǁord doĐuŵeŶt ĐoŶtaiŶs a refereŶĐe to the origiŶal sourĐe appliĐa៭�oŶ / शड姜�  ड� यॐम姜�ट म姜� मॐल ऺख़ 姜ऺ�
ए؀ लॎकॕषन कॊ रॕफर姜�ऺ ऻख़तॊ ऻॖ

The ǁord doĐuŵeŶt ŵust ĐoŶtaiŶ a hǇperliŶk / शड姜�  ड� यॐम姜�ट म姜� ऻॊइपरोलॠक ऻख़नॊ चॊोऻए

The ǁord doĐuŵeŶt ĐoŶtaiŶs a ĐopǇ of the aĐtual data / शड姜�  ड� यॐम姜�ट म姜� शॊៀ� तोशक डॊटॊ कॎ कॗपॎ ऻख़तॎ ऻॖ

Correct Answer :­The ǁord doĐuŵeŶt ĐoŶtaiŶs a refereŶĐe to the origiŶal sourĐe appliĐa៭�oŶ / शड姜�  ड� यॐम姜�ट म姜�
मॐल ऺख़ 姜ऺ� ए؀ लॎकॕषन कॊ रॕफर姜�ऺ ऻख़तॊ ऻॖ 

20)

Question Stimulus :­

Which of the following is correct regarding the Background of slides in PPT? / PPT
ៀ� लॊइड्ऺ कॕ बॖक砈ॊउॠड कॕ  ॠऺदभ姜� म姜� ोन韢� न म姜� ऺॕ � यॊ ऺऻॎ ऻॖ?

Background color of slides can be change / ៀ� लॊइड्ऺ कॕ बॖक砈ॊउॠड कलर कख़ प㌰रशोत姜�त ोकयॊ
जॊ ऺकतॊ ऻॖ



Picture can be set as Slide Background / ोप� चर कख़ ៀ� लॊइड बॖक砈ॊउॠड कॕ 㔛�प म姜� ऺॕट ोकयॊ जॊ
ऺकतॊ ऻॖ

Texture can be set as Slide Background / टॕ韁�चर कख़ ៀ� लॊइड बॖक砈ॊउॠड कॕ 㔛�प म姜� ऺॕट ोकयॊ जॊ
ऺकतॊ ऻॖ

All of the Above / उपरख़� त ऺभॎ

Correct Answer :­All of the Above / उपरख़� त ऺभॎ 

21)

Question Stimulus :­

Which of the following is not valid version of MS Office? / ोन韢� न म姜� ऺॕ कग़न MS OffiĐe कॊ मॊ܀ य
शि姜�न नऻॎ ॠ ऻॖ?

OffiĐe XP

OffiĐe Vista

Office 2007

OffiĐe ϮϬϭϯ

Correct Answer :­OffiĐe Vista 

22)

Question Stimulus :­

When installing PCI NICS you can check the IRQ availability by looking at / PCI NICS इॠ܀ॊल करतॕ
ऺमय आप IRQ उपल韕� धतॊ कॎ जॊॠच ………….. पर दॕखकर कर ऺकतॕ ऻ姜�।

Dip switches / ोडप ꏜ�ៀ�चॕि

CONFIG.SYS / CONFIG.SYS

Jumper settings / ज韢� पर ऺॕोटॠग

Motherboard BIOS / मदरबख़ड姜�  BIOS

Correct Answer :­Motherboard BIOS / मदरबख़ड姜�  BIOS 

23)

Question Stimulus :­

How to change the order of Slides in MS Powerpoint 2007? / MS PoǁerpoiŶt ϮϬϬϳ
म姜�, ៀ� लॊइड्ऺ कॕ 姛�म कख़ कॖऺॕ बदलॊ जॊतॊ ऻॖ?

On Slide Sorter View, click on the Soft Slides / Slide Sorter View कॕ Soft Slides पर ꏜ�ퟁ�क करकॕ 

On Slide Sorter View, click on the slide and drag to required position / Slide Sorter View कॕ slide पर
ꏜ�ퟁ�क तथॊ शॊॠोछत ꏜ�ៀ�थोत तक ड㒆� ॖग करकॕ 



On Slide Thumbnail view, click on the slide and drag to required position
/ Slide Thumbnail view कॕ slide पर ꏜ�ퟁ�क तथॊ शॊॠोछत ꏜ�ៀ�थोत तक ड㒆� ॖग करकॕ

Slides order cannot be changed once it created / ៀ� लॊइड्ऺ कॊ 姛�म एक बॊर बनॊए
जॊनॕ कॕ बॊद बदलॊ नऻॎ ॠ जॊ ऺकतॊ ऻॖ

Correct Answer :­On Slide Sorter View, click on the slide and drag to required position / Slide Sorter
View कॕ slide पर ꏜ�ퟁ�क तथॊ शॊॠोछत ꏜ�ៀ�थोत तक ड㒆� ॖग करकॕ  

24)

Question Stimulus :­

 Addressing structure _________. / ए਀㒆� ॕो ॠऺग ៀ� ट㒆� � चर _____________ ।

defines the fundamental method of determining effective operand addresses / ᐀भॊशॎ ऑपर姜�ड
ए਀㒆� ॕऺॕि कॕ ोनधॊ姜�रण कॎ मॐलभॐत ोशोध कख़ प㌰रभॊोहत करतॊ ऻॖ 

are variations in the use of fundamental addressing structures, or some
associated actions which are related to addressing. / फॠ डॊम姜�टल ए਀㒆� ॕो ॠऺग ៀ� ट㒆� � च 姜ऺ�
यॊ कॏ छ  ॠऺब฀ कॊय瓒� कॕ उपयख़ग म姜� ोशोशधतॊएॠ  ऻ姜� जख़ ोक ए਀㒆� ॕो ॠऺग ऺॕ  ॠऺबॠोधत ऻख़तॕ ऻ姜�

performs indicated operations on two fast registers of the machine and
leave the result in one of the registers. / मषॎन कॕ दख़ तॕज रोजៀ� ट 姜ऺ� पर इॠडॎकॕटॕड
ऑपरॕषन करतॕ ऻ姜� तथॊ एक रोजៀ� टर पर प㌰रणॊम छख़ीतॕ ऻ姜�

all of the above / उपरख़� त ऺभॎ

Correct Answer :­defines the fundamental method of determining effective operand addresses / ᐀भॊशॎ
ऑपर姜�ड ए਀㒆� ॕऺॕि कॕ ोनधॊ姜�रण कॎ मॐलभॐत ोशोध कख़ प㌰रभॊोहत करतॊ ऻॖ  

25)

Question Stimulus :­

In computing terms, what is LIFO an acronym of? / क韢� ؀ यॐोटॠग कॕ टम姜� म姜�, LIFO ोकऺकॊ  ॠऺो埁�␀ 㔛�प ऻॖ  ­

LOOP Into FOR Output / लॐप इनटॐ  फॗर आउटपॏट

Line Input File Output / लॊइन इनपॏट फॊइल आउटपॏट

Log­In­Fail­Out / लॗग­इन­फॕल­आउट

Last­In­First­Out / लॊៀ� ट­इन­फៀ� ट姜�­आउट

Correct Answer :­Last­In­First­Out / लॊៀ� ट­इन­फៀ� ट姜�­आउट 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

JaǇ started a ďusiŶess iŶǀes៭�Ŷg Rs. ϭϮ,ϬϬϬ. A간er four ŵoŶths, AjaǇ joiŶed hiŵ ǁith a Đapital of Rs. ϭϲ,ϬϬϬ. At
the eŶd of the Ǉear, theǇ ŵade a profit of Rs. ϱ,ϭϬϬ. What should AjaǇ's share ďe iŶ the ǀeŶture? / जय नॕ
ϭϮ,ϬϬϬ ोनशॕष कर एक ퟀ�शऺॊय षॏ㔛� ोकयॊ। चॊर मऻॎनख़ ॠ कॕ बॊद, 16,000㔛� कॎ रॊोष कॕ ऺॊथ अजय उऺकॕ ऺॊथ
षॊोमल ऻख़ गयॊ। शह姜� कॕ अॠत म姜�, उ韀�姜� 5,100㔛� कॊ लॊभ 㔛�आ। उऺम姜� अजय कॊ भॊग 埁�ॊ ऻख़नॊ चॊोऻए?



Rs. 2,400 / 㔛�. 2,400

Rs. 3,600 / 㔛�. 3,600

Rs. 2,700 / 㔛�. 2,700

Rs. 3,200 / 㔛�. 3,200

Correct Answer :­Rs. 2,400 / 㔛�. 2,400 

2)

Question Stimulus :­

If the largest ϯ digit Ŷuŵďer is suďtraĐted froŵ sŵallest ϱ digit Ŷuŵďer, theŶ the ďalaŶĐe is / योद 3 अॠक कॎ
ऺबऺॕ बुॎ  ॠऺ埁�ॊ कख़, 5 अॠकख़ ॠ कॎ ऺबऺॕ छख़टॎ  ॠऺ埁�ॊ ऺॕ घटॊयॊ जॊयॕ तख़ षॕह ऻख़गॊ ­

9,000

901

1

9,001

Correct Answer :­9,001 

3)

Question Stimulus :­

 



Correct Answer :­  

4)

Question Stimulus :­

Arpit ĐaŶ ŵake a taďle iŶ three daǇs, ǁhile his frieŶd, Mukul, ĐaŶ ŵake it iŶ siǆ daǇs. If Arpit aŶd Mukul ǁork
together, ďoth of theŵ ĐaŶ ŵake the taďle iŶ: / अोप姜�त एक मॕि तॎन ोदनख़ ॠ म姜� बनॊ ऺकतॊ ऻॖ, जबोक उऺकॊ दख़ퟀ�,
मॏकॏ ल, उऺॕ छ्ऻ: ोदनख़ ॠ म姜� बनॊ ऺकतॊ ऻॖ। योद अोप姜�त और मॏकॏ ल ऺॊथ म姜� कॊम कर姜� , तख़ शॕ दख़नख़ ॠ ोकतनॕ ोदनख़ ॠ म姜� मॕि
कख़ बनॊ ऺकतॕ ऻ姜�:

3 days / 3 ोदन

2 days / 2 ोदन

1 days / 1 ोदन

4 days / 4 ोदन

Correct Answer :­2 days / 2 ोदन 

5)

Question Stimulus :­

If 1st of January, 2002 is Tuesday, then 3rd of February will be ______. / अगर 1लॎ ॠ जनशरॎ, 2002 कख़ मॠगलशॊर ऻॖ तब
3रॎ ॠ फरशरॎ  कख़ ______ऻख़गॊ।

Friday / षॏ姛�शॊर 

SaturdaǇ / षोनशॊर

Sunday / रोशशॊर

MoŶdaǇ / ऺख़मशॊर

Correct Answer :­Sunday / रोशशॊर 



6)

Question Stimulus :­

(17 x 9) ­ (100 x 16) / 5 + (9 x 7) / 9 + (520/13) = ?

­120

­130

­140

­150

Correct Answer :­­120 

7)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / नॎचॕ दॎ
गई 韀�ॠखलॊ म姜� अ埁�रख़ ॠ और  ॠऺ埁�ॊओॠ कॊ 姛�म उपꏜ�ៀ�थत ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ:

i. fgfg6b7fegt6y     ii. fgfg6b7fegt6y       iii. fgfg6b7gfegt6y        iv. fgfg6b7fegt6y

i

ii

iii

iv

Correct Answer :­iii 

8)

Question Stimulus :­

A person buys goods for Rs. 6,000. He gets a discount of 10 % and pays sales tax 6 %. Find the amount he have to
pay for the goods? / एक ퟀ�ꏜ�ऀ 6,000 㔛� कॊ मॊल खरॎदतॊ ऻॖ। उऺॕ 10% छॐ ट ोमलतॎ ऻॖ और शख़  6% ोब姛�ॎ कर दॕतॊ ऻॖ। उऺॕ
मॊल कॕ ोलयॕ ोकतनॎ रकम दॕनॎ ऻख़गॎ?

Rs. 5,700 / 5,700 㔛�पए

Rs. 5,740 / 5,740 㔛�पए

Rs. 5,760 / 5,760 㔛�पए

Rs. 5,800 / 5,800 㔛�पए

Correct Answer :­Rs. 5,760 / 5,760 㔛�पए 

9)

Question Stimulus :­



Correct Answer :­  

10)

Question Stimulus :­

Complete the series choosing the missing number:  / लॏ␀  ॠऺ埁�ॊ चॏनकर 韀॑�ॠखलॊ कख़ पॐरॊ कॎोजए: 

1, 8, 27, 64, ______

ϭϮϱ

120

130

135



Correct Answer :­ϭϮϱ 

11)

Question Stimulus :­

The aǀerage age of fiǀe girls is ϭϭ. The oldest aŵoŶg theŵ is ϭϱ Ǉears old. What is the aǀerage age of the others? /
पॊँच लीोकयख़ ॠ कॎ औऺत आयॏ 11 ऻ姜�। उनम姜� ऺॕ ऺबऺॕ बुॎ कॎ आयॏ 15 शह姜� ऻॖ। बॊोकयख़ ॠ कॊ औऺत 埁�ॊ ऻॖ?

12

4

10

9

Correct Answer :­10 

12)

Question Stimulus :­

If PLASTIC is coded CITSALP, then how is REVIVER coded? / योद PLASTIC  कख़  CITSALP ऺॕ कख़ोडत
ोकयॊ जॊतॊ ऻॖ, तख़ REVIVER कख़ कॖऺॕ कख़ोडत ोकयॊ जॊयॕगॊ?

REVIVER

RIVER

VIRVIER

VERVIER

Correct Answer :­REVIVER 

13)

Question Stimulus :­

Simplify: / ऺरल कॎोजए:

 

4

3

2

1

Correct Answer :­1 

14)

Question Stimulus :­



The series given below contains a sequence of numbers. Identify the incorrect combination: / नॎचॕ दॎ गई
韀�ॠखलॊ म姜�  ॠऺ埁�ॊओॠ कॊ 姛�म उपꏜ�ៀ�थत ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ:

216, 345, 512, 729, 1000

216

512

345

1000

Correct Answer :­345 

15)

Question Stimulus :­

If MATHS is Đoded LZSGR, theŶ hoǁ is GEOGRAPHY Đoded? / योद MATHS कख़ LZSGR ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़
GEOGRAPHY कख़ कॖऺॕ कख़ोडत ोकयॊ जॊयॕगॊ?

FDNFSZOGX

FDNFQZOGX

FDPFQZOGX

FDNFQZQGX

Correct Answer :­FDNFQZOGX 

16)

Question Stimulus :­

Coŵplete the series ĐhoosiŶg the ŵissiŶg le៭�er/s: / लॏ␀ अ埁�र चॏनकर 韀॑�ॠखलॊ कख़ पॐरॊ कॎोजए: 

ď__ďďďaď__ďa__ď

a, ď, ď

a, a, ď

a, ď, a

ď,a, a

Correct Answer :­a, ď, ď 

17)

Question Stimulus :­

Find the odd one out: / ोशहम 埀�ॊत कॎोजए:

ElephaŶts aŶd Truŵpet / ऻॊथॎ और ोचॠघॊीनॊ

Horses aŶd Neigh / घख़ीॕ और ोऻनोऻनॊनॊ



Caŵels aŶd Roar / ऊँट और दऻॊीनॊ

Dogs aŶd Bark / कॏ ᴀॕ और भग़ ॠकनॊ

Correct Answer :­Caŵels aŶd Roar / ऊँट और दऻॊीनॊ 

18)

Question Stimulus :­

At what price an article should be marked above the cost price of Rs. 200, so that the
seller gains 20 % after giving a discount of 4 %. / ोकऺ मॐ稂 पर एक शퟀ�ॏ कख़ उऺकॎ 200 㔛� कॎ
लॊगत कॕ ऊपर ोचꏜ�韀�त ोकयॊ जॊनॊ चॊोऻयॕ ोजऺऺॕ ोश姛ॕ�तॊ कख़ 4% छॐ ट दॕनॕ कॕ बॊद 20% लॊभ ᐀ॊ␀ ऻख़।

Rs. 125 / 125 㔛�पए

Rs. 175 / 175 㔛�पए

Rs. 250 / 250 㔛�पए

Rs. 300 / 300 㔛�पए

Correct Answer :­Rs. 250 / 250 㔛�पए 

19)

Question Stimulus :­

WheŶ Sarthak looked at his ǁatĐh, it shoǁed the ៭�ŵe as ϰ:ϯϬ. If the ŵiŶutes haŶd poiŶts toǁards east, theŶ
toǁards ǁhiĐh direĐ៭�oŶ ǁill the hours haŶd poiŶt? / जब ऺॊथ姜�क नॕ अपनॎ घीॎ म姜� दॕखॊ तब घीॎ न姜� ऺमय ϰ:ϯϬ
ोदखॊयॊ। अगर ोमनट कॎ  ॐऺई पॐश姜� कॎ ओर  ॠऺकॕत करतॎ ऻॖ, तख़ घॠटख़ ॠ कॎ  ॐऺई ोकऺ ोदषॊ कॎ ओर  ॠऺकॕत करॕगॎ?

Ŷorth / उᴀर

Ŷorth – east / उᴀर­पॐश姜�

south – east / दो埁�ण­पॐश姜�

Ŷorth – ǁest / उᴀर­पोៀ�म

Correct Answer :­Ŷorth – east / उᴀर­पॐश姜� 

20)

Question Stimulus :­

In the word 'BILLIONAIRE' the letters are reversed and then each letter is replaced by the letter succeeding it in
the alphabet series. What will be the 10th alphabet in the new word? / ' BILLIONAIRE ' षៀ� म姜� ᐀ကॕक अ埁�र कख़
अ埁�र 韀॑�ॠखलॊ म姜� उऺकॕ परशत돝� अ埁�र ऺॕ ᐀ोतៀ�थॊोपत कर ोदयॊ गयॊ। प㌰रशोत姜�त षៀ� म姜� 10th  अ埁�र कग़न ऺॊ ऻख़गॊ?

K

M

J

C



Correct Answer :­J 

21)

Question Stimulus :­

(12 x 4) + (3 x 8) ­ (13 x 3) + (156/4) = ?

72

36

39

62

Correct Answer :­72 

22)

Question Stimulus :­

Eǀaluate: / प㌰रकोलत कॎोजए: 

;Ϭ.ϬϬϬϯϮͿ ^ ;ϯ/ϱͿ.

Correct Answer :­  

23)

Question Stimulus :­

Average of 19, 22, 35, 39, and 40 is / 19, 22, 35, 39 और 40 कॊ औऺत ऻख़गॊ

31

35

39

22

Correct Answer :­31 



24)

Question Stimulus :­

In a certain code language, veny heny steny means get out man; steny shomy shelt
means out of danger. Which is the word for steny in that code language? / ोकऺॎ ोनोៀ�त कख़ड
भॊहॊ म姜�, veny heny steny कॊ मतलब ऻॖ get out man; steny shomy shelt कॊ मतलब ऻॖ out of
danger. उऺ कख़ड भॊहॊ म姜� steny कॕ ोलयॕ 埁�ॊ षៀ� ऻॖ?

daŶger 

ŵaŶ

out

of

Correct Answer :­out 

25)

Question Stimulus :­

The ages of Bhoomika and Spoorthy are in the ratio of 5 : 2. If the difference of their ages is 36 years, then what
was the ratio of their ages 13 years ago? / भॐोमकॊ और ퟀ�ॐथ돝� कॎ आयॏ 5 : 2 कॕ अनॏपॊत म姜� ऻ姜�। योद उनकॎ आयॏ कॕ बॎच कॊ
अॠतर 36 ऺॊल ऻॖ, तख़ 13 शह姜� पॐश姜� उनकॎ आयॏ ोकऺ अनॏपॊत म姜� थॎ?

47 : 11

48 : 12

40 : 41

None of the above / उपयॏ姜�ऀ म姜� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­47 : 11 

Topic:­ General Management
1)

Question Stimulus :­

Which of the following functions of HRM includes identifying future human resource requirements and
forecasting personnel needs? / मॊनश  ॠऺऺॊधन ᐀बॠधन कॊ ोनᤀ म姜� ऺॕ कग़न ऺॊ ᐀कॊय姜�, भोश܀ मॊनश  ॠऺऺॊधन
आश܀कतॊओॠ कख़ पऻचॊननॊ और कॊोम姜�क ि㔛�रतख़ ॠ कॕ पॐशॊ姜�नॏमॊन कख़ ऺꏜ�ៀ�ोलत करतॊ ऻॖ?

Organising / आयख़जन

Planning / ोनयख़जन

Directing / ोनद돝�षन

Staffing / कॊोम姜�क ퟀ�शៀ�थॊ

Correct Answer :­Planning / ोनयख़जन 

2)

Question Stimulus :­



In the trial balance if the wages are clubbed with salaries and is shown as ‘salaries and wages’, then it
is recorded in _________.  /  परॎ埁�ण  ॠऺतॏलन (ट㒆� ॊयल बॖल姜�ऺ) म姜�, योद मजॐदरॎ कख़ शॕतन कॕ ऺॊथ जख़ी ोदयॊ जॊए
और इऺॕ ‘शॕतन और मजदॐ रॎ’ कॕ 㔛�प म姜� ोदखॊयॊ जॊए, तख़ यऻ _________ म姜� अोभलॕꏜ�खत ऻख़तॎ ऻॖ।

Trading account /  ퟀ�ॊपॊर लॕखॊ

Profit and Loss account / लॊभ और ऻॊोन लॕखॊ

Balance Sheet / तॏलन प韀�

Proprietor account / मॊोलकॊनॊ लॕखॊ

Correct Answer :­Profit and Loss account / लॊभ और ऻॊोन लॕखॊ 

3)

Question Stimulus :­

In which of these types of simulation exercises are trainees divided into different teams and asked to play roles
of competing firms in a simulated market? / इनम姜� ऺॕ अनॏकरण अៀ�ॊऺख़ ॠ कॕ ोकऺ ᐀कॊर म姜�, ᐀ोष埁�ॏणख़ ॠ कख़ ोशोभៀ� दल
म姜� ोशभॊोजत ोकयॊ जॊतॊ ऻॖ और एक नकलॎ बॊजॊर म姜� ᐀ोतퟀ�ध돝� फम瓒� कॎ भॐोमकॊ ोनभॊनॕ कख़ कऻॊ जॊतॊ ऻॖ?

Interview method /  ऺॊ埁�ॊ� कॊर ोशोध

Business games / ퟀ�ॊपॊर खॕल

Incidental method / आकꏜ�ퟀ�क ोशोध

Basket method /  टख़करॎ ोशोध

Correct Answer :­Business games / ퟀ�ॊपॊर खॕल 

4)

Question Stimulus :­

What is reiŶforĐeŵeŶt theorǇ ďased oŶ? / ᐀बलॎकरण ोऺ฀ॊퟅ� ोकऺ पर आधॊ㌰रत ऻॖ?

Overseas assignment / ोशदॕषॎ कॊय姜�

Incompatibility between behaviour / ퟀ�शऻॊर कॕ बॎच अ ॠऺगोत

LearŶiŶg theorǇ aŶd ǁorks of SkiŶŶer / अोधगम ोऺ฀ॊॠत और ꏜ��नर कॊ ोऺ฀ॊퟅ�

Desired voluntary behaviour / शॊॠोछत ៀॖ�ꏜ�埀�क ퟀ�शऻॊर

Correct Answer :­LearŶiŶg theorǇ aŶd ǁorks of SkiŶŶer / अोधगम ोऺ฀ॊॠत और ꏜ��नर कॊ ोऺ฀ॊퟅ� 

5)

Question Stimulus :­

Balance sheet is based on the accounting equation ____________. / तॏलन प韀�, लॕखॊॠकन ऺमॎकरण,
__________________ पर आधॊ㌰रत ऻॖ।

Assets=Liabilities + capital / प㌰र ॠऺपोᴀ = दॕनदॊ㌰रयख़ ॠ + पॐॠजॎ



Assets + Liabilities =Capital / प㌰र ॠऺपोᴀ + दॕनदॊ㌰रयख़ ॠ = पॐॠजॎ

Assets – Liabilities = Capital / प㌰र ॠऺपोᴀ ­ दॕनदॊ㌰रयख़ ॠ = पॐॠजॎ

Assets + Capital =Liabilities / प㌰र ॠऺपोᴀ + पॐॠजॎ = दॕनदॊ㌰रयख़ ॠ

Correct Answer :­Assets=Liabilities + capital / प㌰र ॠऺपोᴀ = दॕनदॊ㌰रयख़ ॠ + पॐॠजॎ 

6)

Question Stimulus :­

Which of the following concepts is defined as the process of choosing the most suitable candidate for a job
from among the available candidates? / ोनᤀ म姜� ऺॕ कग़न ऺॎ अशधॊरणॊ, एक नग़करॎ कॕ ोलए उपल✀ उៀ�ॎदशॊरख़ ॠ म姜� ऺॕ
ऺबऺॕ उपयॏऀ उៀ�ॎदशॊर कख़ चॏननॕ कॎ ᐀ो姛�यॊ कॕ 㔛�प म姜� प㌰रभॊोहत ऻॖ?

Selection / चयन

Recruitment / भत돝�

Placement / ៀ�थॊनन

Evaluation / मॐ稂ॊॠकन

Correct Answer :­Selection / चयन 

7)

Question Stimulus :­

In  the following method of investment criteria which method falls under Discounted Cash Flow
Criteria? / ोनशॕष मॊनदॠड कॕ ोनᤀोलꏜ�खत तरॎकख़ ॠ म姜� कग़न ऺॊ तरॎकॊ ब韀�ॊगत नकद ᐀शॊऻ मॊनदॠड क姜�  अॠतग姜�त
आतॊ ऻॖ? 

Accounted rate of return / लॕखॊॠकन ᐀ोतफल दर

Payback period / भॏगतॊन शॊपऺॎ अशोध

Internal rate of return / आॠत㌰रक ᐀ोतफल दर

External rate of return / ㌰रटन姜� कॎ बॊऻरॎ दर

Correct Answer :­Internal rate of return / आॠत㌰रक ᐀ोतफल दर 

8)

Question Stimulus :­

Which of the following is not a barrier to seamless communication? / ोनᤀ म姜� ऺॕ कग़न ऺॊ ऺॎशनऻॎन  ॠऺचॊर कॕ ोलए
रख़ध नऻॎ ॠ ऻॖ?

Faulty translations / दख़हपॐण姜� अनॏशॊद

Proper planning / उोचत यख़जनॊ

Distorted communication / ोशक॑त  ॠऺचॊर



Badly expressed message / बॏरॎ तरऻ ऺॕ ퟀ�ऀ  ॠऺ दॕष

Correct Answer :­Proper planning / उोचत यख़जनॊ 

9)

Question Stimulus :­

Which of the following is not the objective of Trial balance / ोनᤀ म姜� ऺॕ कग़न ऺॊ, ट㒆� ॊयल बॖल姜�ऺ ;कఀॊ ोमलॊन) कॊ
उ埀ॕ�܀ नऻॎ ॠ ऻॖ?

Check the arithmetica”l accuracy of the accounting entries / लॕखॊ ᐀ोशो܀यख़ ॠ कॎ अॠकगोणतॎय
ऺटॎकतॊ कॎ जॊँच करनॊ।

Basis for financial statement / ोशᴀॎय ोशशरण कॕ ोलए आधॊर बनॊनॊ

Summarize ledger / खॊतॊ बऻॎ कख़  ॠऺो埁�␀ करनॊ

Assess the profitability of business / ퟀ�ॊपॊर कॕ लॊभ कॊ आकलन करनॊ

Correct Answer :­Assess the profitability of business / ퟀ�ॊपॊर कॕ लॊभ कॊ आकलन करनॊ 

10)

Question Stimulus :­

A company decides to declare INR 200000 as cash dividend to shareholders. It will be reflected in the
cash flow statement as a cash outflow under __________ activities. / एक कॠ पनॎ नॕ षॕयरधॊरकख़ ॠ कख़
लॊभॊॠष कॕ 㔛�प म姜� नकद, 200000 㔛�पए घख़ोहत करनॕ कॊ ोनण姜�य ोलयॊ। यऻ __________ , कॕ अॠतग姜�त एक
नकदॎ बोऻशॊ姜�ऻ कॕ 㔛�प म姜� नकदॎ ᐀शॊऻ ोशशरण म姜� प㌰रलो埁�त ऻख़गॊ।

Operating activities / प㌰रचॊलन गोतोशोधयख़ ॠ

Financing activities / ोशᴀॎय गोतोशोधयख़ ॠ

Investing activities / ोनशॕषॎ गोतोशोधयख़ ॠ

Accounting activities / लॕखॊ गोतोशोधयख़ ॠ

Correct Answer :­Financing activities / ोशᴀॎय गोतोशोधयख़ ॠ 

11)

Question Stimulus :­

Which of the following is a desired future state that the organization attempts to reach? / ोनᤀ म姜� ऺॕ
कग़न ऺॎ एक शॊॠोछत भोश܀ अशៀ�थॊ ऻॖ ोजऺ तक प㔛ँ�चनॕ कॕ ोलए  ॠऺगठन, ᐀यॊऺ करतॊ ऻॖ?

Deadline  /  ऺमयऺॎमॊ

Goal  /  लៀ�

Long­term Plan  /  दॎघ姜�कॊोलक यख़जनॊ

Task  /  कॊय姜�



Correct Answer :­Goal  /  लៀ� 

12)

Question Stimulus :­

In which of these employee stock plans, the company grants an option to its employees to acquire
shares at a future date? / इनम姜� ऺॕ ोकऺ कम姜�चॊरॎ षॕयर यख़जनॊ म姜�, कॠ पनॎ कम姜�चॊ㌰रयख़ ॠ कख़ एक भोश܀ कॎ
ोतोथ पर षॕयर लॕनॕ कॊ ोशक鐁 ᐀दॊन करतॎ ऻॖ?

Stock appreciation right / षॕयर मॐ稂श॑ꏜ�฀ अोधकॊर

Employee stock purchase plan  / कम姜�चॊरॎ षॕयर 姛�य यख़जनॊ

Employee stock option scheme / कम姜�चॊरॎ ॗ܀क ोशक鐁 अोधयख़जनॊ

Premium price options / ᐀ॎोमयम मॐ稂 ोशक鐁

Correct Answer :­Employee stock option scheme / कम姜�चॊरॎ ॗ܀क ोशक鐁 अोधयख़जनॊ 

13)

Question Stimulus :­

Middle level managers will be concerned with / म᠀ ퟀ�र कॕ ᐀बॠधक, इऺकॕ बॊरॕ म姜� ोचॠोतत ऻख़ ॠगॕ

Ultimate objectives / अॠोतम उ埀ॕ�܀ख़ॠ 

Divisional Objectives / ᐀भॊगॎय उ埀ॕ�܀ख़ॠ

National objectives / रॊ韖� ट㒆� ॎय उ埀ॕ�܀ख़ॠ

Strategic objectives / ऺॊम㌰रक उ埀ॕ�܀ख़ॠ

Correct Answer :­Divisional Objectives / ᐀भॊगॎय उ埀ॕ�܀ख़ॠ 

14)

Question Stimulus :­

Debt is a cheaper source of funds because / ऋण, ोनोध कॊ एक ऺퟀ�ॊ ᰀख़त ऻॖ 埁�ख़ॠोक:

Owners of the business expect a low rate of return / ퟀ�ॊपॊर कॊ मॊोलक, ोन韢� न ᐀ोतफल दर कॎ उៀ�ॎद
करतॊ ऻॖ।

Interest paid on loans is treated as an expense and hence it reduces the taxable income / ऋणख़ॠ पर
฀ॊज कॊ भॏगतॊन, एक ퟀ�य कॕ 㔛�प म姜� मॊनॊ जॊतॊ ऻॖ एशॠ इऺोलए यऻ करयख़ៀ� आय कख़ कम कर दॕतॊ ऻॖ।

 Both A and B / A एशॠ B दख़नख़ ॠ

 None of the above / इनम姜� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Interest paid on loans is treated as an expense and hence it reduces the taxable
income / ऋणख़ॠ पर ฀ॊज कॊ भॏगतॊन, एक ퟀ�य कॕ 㔛�प म姜� मॊनॊ जॊतॊ ऻॖ एशॠ इऺोलए यऻ करयख़ៀ� आय कख़ कम
कर दॕतॊ ऻॖ। 

15)



Question Stimulus :­

When the owner of the business withdraws cash / goods from business for his personal use, it is termed
as / जब ퟀ�ॊपॊर कॊ मॊोलक, अपनॕ ोनजॎ ᐀यख़ग कॕ ोलए ퟀ�ॊपॊर ऺॕ धन/मॊल कख़ ोनकॊलतॊ ऻॖ, इऺॕ कऻतॕ ऻ姜� :

Drawings / आऻरण

Capital / पॐँजॎ

Cash outflow / नकद बोऻशॊ姜�ऻ

Depreciation / मॐ稂埀�ॊऺ

Correct Answer :­Drawings / आऻरण 

16)

Question Stimulus :­

The buying process starts when ____________/ खरॎददॊरॎ कॎ ᐀ो姛�यॊ षॏ㔛� ऻख़ जॊतॎ ऻॖ
जब___________________

The buyer sees an advertisement for the product/service with good recall  /  अ埀�ॎ यॊद कॕ ऺॊथ
उကॊद / ऺॕशॊ कॕ ोलए एक ोश埀�ॊपन कख़ खरॎददॊर दॕखतॊ ऻॖ।

A salesperson convinces the buyer of the advantages of the product/service  /   ोश姛ॕ�तॊ, उကॊद/
ऺॕशॊ कॕ लॊभख़ ॠ ऺॕ खरॎददॊर कख़ रॊजॎ कर लॕतॊ ऻॖ।

The buyer recognizes the need for the product/service  /  खरॎददॊर, उကॊद/ऺॕशॊ कॕ ोलए ज㔛�रत कख़
पऻचॊन लॕतॊ ऻॖ।  

The seller offers a discount /  ोश姛ॕ�तॊ, छॐ ट दॕतॊ ऻॖ।

Correct Answer :­The buyer recognizes the need for the product/service  /  खरॎददॊर, उကॊद/ऺॕशॊ कॕ
ोलए ज㔛�रत कख़ पऻचॊन लॕतॊ ऻॖ।   

17)

Question Stimulus :­

WhiĐh of the folloǁiŶg is the trait of leaders ǁho ďuild trust iŶ the rela៭�oŶship ďetǁeeŶ theŵselǀes aŶd folloǁers
ďǇ ďeiŶg truthful aŶd ŶoŶ‐deĐei៭�ul? / इनम姜� ऺॕ कग़न ऺॎ नॕतॊओॠ कॎ ोशषॕहतॊ ऻॖ जख़ ऺကषॎल और गॖर‐धख़खॕबॊज बनकर
उनम姜� और उनकॕ अनॏयॊोययख़ ॠ कॕ बॎच  ॠऺबॠधख़ ॠ म姜� ोश�ॊऺ कॊ ोनमॊ姜�ण करतॎ ऻॖ।

Drive /  ॠऺचॊलन

Honesty and Integrity / ईमॊनदॊरॎ और ऺကोन�ॊ

Self­confidence / आퟀ�ोश�ॊऺ

Desire to lead / नॕत॑埀� करनॕ कॎ इ埀�ॊ

Correct Answer :­Honesty and Integrity / ईमॊनदॊरॎ और ऺကोन�ॊ 

18)



Question Stimulus :­

What are the major components of a CPU? / एक ऺॎपॎयॐ कॕ ᐀मॏख घटक 埁�ॊ ऻ姜�?

Register Set, Control Unit, Auxiliary Memory /  रोजៀ� टर ऺॕट, ोनयॠ韀�ण इकॊई, ऺऻॊयक मॕमख़रॎ

Register Set, Control Unit, Memory Unit / रोजៀ� टर ऺॕट, ोनयॠ韀�ण इकॊई, मॕमख़रॎ यॐोनट

Memory Unit, Arithmetic Logic Unit, Auxiliary Memory /  मॕमख़रॎ यॐोनट, अथ姜�मॖोटक लॗोजक यॐोनट,
ऺऻॊयक मॕमख़रॎ

Control Unit, Register Set, Arithmetic Logic Unit /  ोनयॠ韀�ण इकॊई, रोज܀र ऺॕट, अथ姜�मॖोटक लॗोजक
यॐोनट

Correct Answer :­Control Unit, Register Set, Arithmetic Logic Unit /  ोनयॠ韀�ण इकॊई, रोज܀र ऺॕट,
अथ姜�मॖोटक लॗोजक यॐोनट 

19)

Question Stimulus :­

Bad debts are recovered from a client. It will be ______. / एक 砈ॊऻक ऺॕ अषख़� य ऋण (बॕड डॕ韕� ट) श ॐऺलॊ गयॊ। यऻ
ऻख़गॊ ______.

Deducted from debtors in the balance sheet / तॏलन प韀� म姜� दॕनदॊर ऺॕ कटग़तॎ

Added to debtors in the balance sheet / तॏलन प韀� म姜� दॕनदॊरख़ ॠ कख़ जख़ीनॊ

Credited to P & L a/c /   P & L लॕखॊ म姜� 姛ॕ�ोडट ोकयॊ गयॊ

Will be entered as such in Balance sheet / तॏलन प韀� म姜� इऺ तरऻ ऺॕ दज姜� ोकयॊ जॊएगॊ

Correct Answer :­Credited to P & L a/c /   P & L लॕखॊ म姜� 姛ॕ�ोडट ोकयॊ गयॊ 

20)

Question Stimulus :­

Which of the following is not true? / ोनᤀ म姜� ऺॕ कग़न ऺॊ कथन ऺက नऻॎ ॠ ऻॖ

Bond has a face value / बॗៀ� कॊ एक अॠोकत मॐ稂 ऻख़तॊ ऻॖ

The bond is premium if its price is less than face value / बॗៀ� एक ᐀ॎोमयम ऻॖ, योद इऺकॊ मॐ稂,
अॠोकत मॐ稂 ऺॕ कम ऻख़।   

Bond is discount if the price is less than face value / बॗៀ� एक छॐ ट ऻॖ, योद इऺकॊ मॐ稂, अॠोकत मॐ稂
ऺॕ कम ऻख़।

 Premium or discount on a bond is the difference between determined price and its face value. /
एक बॗៀ� पर छॐ ट यॊ ᐀ॎोमयम, उऺकॎ ोनधॊ姜�㌰रत कॎमत और अॠोकत मॐ稂 कॕ बॎच कॊ अॠतर ऻख़तॊ ऻॖ। 

Correct Answer :­The bond is premium if its price is less than face value / बॗៀ� एक ᐀ॎोमयम ऻॖ, योद
इऺकॊ मॐ稂, अॠोकत मॐ稂 ऺॕ कम ऻख़।    

21)



Question Stimulus :­

Financial accounts are prepared for the transactions happening within a period of time___________ /
____________  कॎ ऺमयॊशोध कॕ अ∀र ऻख़नॕ शॊलॕ लॕनदॕन कॕ ोलए ोशᴀॎय खॊतॕ तॖयॊर ोकए जॊतॕ ऻ姜�।

6 months / 6 मॊऻ

3 Months / 3 मॊऻ

12 Months /12  मॊऻ

8 Months / 8 मॊऻ

Correct Answer :­12 Months /12  मॊऻ 

22)

Question Stimulus :­

Which approach stipulates that material should arrive just as and when they are needed? / कग़न ऺॊ 埀�ो܀कख़ण
अनॏबॠध करतॊ ऻॖ ोक ोजऺ 㔛�प म姜� और कब ऺॊम砈ॎ कॎ आश܀कतॊ ऻख़, बऺ जब शऻ शॖऺॕ ऻॎ आ जॊनॎ चॊोऻयॕ?

JIT (Just in time) system  / जॕ.आई.टॎ (ऺऻॎ ऺमय पर) ᐀णॊलॎ

Kanban / कनबन

Distribution Logistics / ोशतरण  ॠऺभॊर

EOQ / ई.ओ.埁�ॐ

Correct Answer :­JIT (Just in time) system  / जॕ.आई.टॎ (ऺऻॎ ऺमय पर) ᐀णॊलॎ 

23)

Question Stimulus :­

What are the three main types of authority in an organization? /  ॠऺगठन म姜� ᐀ॊोधकरण कॕ तॎन मॏ埁�
᐀कॊर कग़न ऺॕ ऻ姜�?

Line, Advisory and Staff  /  लॊइन, ऺलॊऻकॊर और ܀ॊफ

Line, Staff and Service  /  लॊइन, ܀ॊफ और ऺॕशॊ

Line, Control and Functional  /  लॊइन, ोनयॠ韀�ण और ᐀कॊयॊ姜�ퟀ�क

Line, Staff and Functional  /  लॊइन, ܀ॊफ और ᐀कॊयॊ姜�ퟀ�क

Correct Answer :­Line, Staff and Functional  /  लॊइन, ܀ॊफ और ᐀कॊयॊ姜�ퟀ�क 

24)

Question Stimulus :­

The capital invested in total current assets of the business concern is known as__________ /  ៀ� यशऺॊय कॎ कॏ ल चॊलॐ
प㌰र ॠऺपꏜ�� त म姜� ोनशॕोषत पॐॠजॎ _____________ कॕ 㔛�प म姜� जॊनॊ जॊतॊ ऻॖ।

Gross Working Capital / ऺकल कॊय姜�षॎल पॐॊँजॎ



Net Working Capital / ोनशल कॊय姜�षॎल पॐॠजॎ

Permanent Working Capital / ៀ�थॊयॎ कॊय姜�षॎल पॐॠजॎ

Semi Variable Working Capital / अध姜�­प㌰रशत돝� कॊय姜�षॎल पॐॠजॎ

Correct Answer :­Gross Working Capital / ऺकल कॊय姜�षॎल पॐॊँजॎ 

25)

Question Stimulus :­

Which approach contended that the market value of the firm is not at all affected by the capital structure? /
ोकऺ 埀�ो܀कख़ण कॊ यॕ तक姜�  थॊ ोक ퟀ�शऺॊय ­᐀ोत韖� ठॊन कॊ बॊजॊर मॐ稂, पॐॠजॎ  ॠऺरचनॊ कख़ ोबलकॏ ल भॎ ᐀भॊोशत नऻॎ ॠ
करतॊ ऻॖ।

Net income approach / ोनशल आय 埀�ो܀कख़ण

Net operating income approach / ोनशल ᐀चॊलन आय 埀�ो܀कख़ण

Traditional approach / परॠपरॊगत 埀�ो܀कख़ण

MM approach / एमएम 埀�ो܀कख़ण

Correct Answer :­Net operating income approach / ोनशल ᐀चॊलन आय 埀�ो܀कख़ण 


